DU BEd

Topic:- DU_J18_Bed_Topic01

1) There is a building having six floors numbered 1, 2, 3, 4, 5 and 6. Six friends Aslam, Boni, Carol, Divakar, Enu and Amanpreet live on
different floors in the given building. There are two floors between the floors on which Divakar and Amanpreet live. Amanpreet lives on a
floor above Divakar’s floor. Aslam lives on the floor which is even numbered. Divakar does not live on floor number 2. Carol does not live
on any of the floors below Amanpreet’s floor. Boni does not live on an odd numbered floor. Enu does not live on a floor immediately above
or immediately below the floor on which Boni lives.
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The person who lives on floor number 1 is

TifTer WS 1 IR Y@ 9T AfRT & [Question ID = 6353]

1. Enu / ¥ [Option ID = 25405]

2. Aslam / 3H¢H [Option ID = 25404]

3. Amanpreet / S [Option ID = 25406]
4. Divakar / f&ar®R [Option ID = 25403]

Correct Answer :-
« Divakar / fGa/®R [Option ID = 25403]

2) There is a building having six floors numbered 1, 2, 3, 4, 5 and 6. Six friends Aslam, Boni, Carol, Divakar, Enu and Amanpreet live on
different floors in the given building. There are two floors between the floors on which Divakar and Amanpreet live. Amanpreet lives on a
floor above Divakar’s floor. Aslam lives on the floor which is even numbered. Divakar does not live on floor number 2. Carol does not live
on any of the floors below Amanpreet’s floor. Boni does not live on an odd numbered floor. Enu does not live on a floor immediately above
or immediately below the floor on which Boni lives.

TP FARC ¥ ©: Hiord & PAd s @ ® 1, 2, 3, 4, 5 3 6 | T: S, 3RTTH, 911, Fa, faares, §9, iR w=Hia 59 ARG P SreT-3re[ T
TR TR TEd § | R 6 i) Rarew sk smadia tea €, 39 A & g 3 9ire § | srrevia fRare 91 il & Sur areft iR R ted @ |
ST T T Tl HiTe uR YT ¢ | feares uitre e 2 wR g gar | S I wivrel § 3 fondt off wftrer w18 weelt < ermendia 91 dfva &
I § | S e we arelt \ivra W A€ Tear @ | € 3 Uit R A vear St witra a9 9t \Ra @ teen SR AT TEer R f |

The following live on the floors exactly between Divakar and Amanpreet

3R i & foeige o arell wite 1= ¥ €, 9 € [Question ID = 6351]

1. Enu, Carol / 3, 31d [Option ID = 25397]
2. Aslam, Enu / 3{9eH, 39 [Option ID = 25395]
3. Carol, Boni / ﬁﬁ, Eigil [Option ID = 25396]
4. Enu, Boni / 7, ST [Option ID = 25398]

Correct Answer :-
« Aslam, Enu / 3@, 7 [Option ID = 25395]

3) There is a building having six floors numbered 1, 2, 3, 4, 5 and 6. Six friends Aslam, Boni, Carol, Divakar, Enu and Amanpreet live on
different floors in the given building. There are two floors between the floors on which Divakar and Amanpreet live. Amanpreet lives on a
floor above Divakar’s floor. Aslam lives on the floor which is even nhumbered. Divakar does not live on floor number 2. Carol does not live
on any of the floors below Amanpreet’s floor. Boni does not live on an odd numbered floor. Enu does not live on a floor immediately above
or immediately below the floor on which Boni lives.

TP FARG # ©: Hiord & PAd s @ @ 1, 2, 3, 4, 5 3 6 | B: S, 3RTTH, 141, FAq, faares, §9, iR w=iid 59 ARG P SreT- e/ T
Hftrel W T € | o wfvrel W fearee ok srmeitd Tea €, S+ wfvrel & dta & Aftra & | sriia faares @ wifvia & SuR areh Al R IEd R |
ST T TS el HiTe UR YT ¢ | feares uitre e 2 W g gar | S I wivral & | fondt off wftrer wr e Teelt ot ermendia 91 dfva &
2 & | 9 fww S areft wivre wR E Tea @ | .39 At wR 8 e S wfivra a9 AR @ teen SR AT usen AR ® |

Boni lives on floor number

a0 & Frarg A wifre Ten @
[Question ID = 6352]

1. 4 [Option ID = 25400]
2. 2 [Option ID = 25401]
3. Cannot be determined / fRaffea &t faram ST TepaT [Option ID = 25402]
4. 6 [Option ID = 25399]



Correct Answer :-
« 6 [Option ID = 25399]

Topic:- DU_J18_Bed_Topic02

1) In the following question, choose the correct alternative from the given options that will complete the series

FPrafifad uy § i3y ¢ e # 9 98 9T ot e I R AR L |

4, 8, 28, 80, 244, __

[Question ID = 6355]

1. 278 [Option ID = 25411]
2. 428 [Option ID = 25412]
3. 728 [Option ID = 25414]
4. 628 [Option ID = 25413]

Correct Answer :-
e 728 [Option ID = 25414]

2) In the following question, choose the correct alternative from the given options that will complete the series

faffarr AR T RTa A wIF T famH WS |

aebd_ fjgi__koln__

[Question ID = 6356]

1. ¢ m h [Option ID = 25415]
2. ¢ h m [Option ID = 25416]
3. ejl [Option ID = 25418]

4. c g m [Option ID = 25417]

Correct Answer :-
e chm[Option ID = 25416]

3) In the following question, select the odd letter/word/number from the given alternatives

frafafed vy o fow e fawen 7 & vy sier/ =g /9@ gig
[Question ID = 6358]

1. xut [Option ID = 25424]
2. jfe [Option ID = 25425]

3. eba [Option ID = 25423]
4. yvu [Option ID = 25426]

Correct Answer :-
« jfe [Option ID = 25425]

4) In the following question, select the odd letter/word/number from the given alternatives

Frafafea vy # g T e & 9§ fww sigr/ reg /3@ gfiw
[Question ID = 6357]

1. 79 - 48 [Option ID = 25422]
2. 59 — 34 [Option ID = 25421]
3. 35 — 08 [Option ID = 25419]
4. 57 — 24 [Option ID = 25420]

Correct Answer :-
e 59 — 34 [Option ID = 25421]

Topic:- DU_J18_Bed_Topic03



1) Four friends - Raushan,Parul, Saba and Bhaskar - are to appear for M.A. entrance exams in four different subjects - History, Geography,
Political Science and Sociology - not necessarily in that order. The centres for the exams are in four different colleges A, B, C and D - which
is situated in 4 different places - P, Q, R and S - not necessarily in that order. It is also known that: Parul’s examination center is C. The
college assigned to Sociology is B, which is situated in Q. The friend, whose exam centre is A, is to visit S to take his/her exam. Saba has
applied for History. Raushan is to visit R to take his exam.

IR i - A=, ured, [T 3R YRR - °R At f{wat sfoer, g, I fagm ok aaremd § (330 70 § T8)) .U, vaw udien § 961
a1ed &1 wien & Fg uR At weridemeat A, B, € 3R D # 8, S IR S@-3e T W — P, Q, R 3R s (33t 0 A 7€ ) A 81 wg it 7 & & e
wuﬂaﬁﬁfﬁc%l FHISIARA B U B HeTfaerad # g1 8, ol W Q # fRud g1 fora firsr 3t wian &1 %5 A 7, 39 wdien d 339 & Rl W s &
SITET |

araT 3 sfagra $1 wden ¥ Rrg smde fFar § ok Jxm ot wiien 37 & g ®= R A S ghm

Which of the following can be correct combination of ‘exam-place’ for Raushan?

A & 1T THen-RT B1 9E) FUISH B9 91 8 b 22
[Question ID = 6363]

1. Political Science - P / TSIt fa3IH - P [Option ID = 25445]
2. Sociology - R / THISIRIRA - R [Option ID = 25444]

3. Geography — R / 71 - R [Option ID = 25446]

4. Geography - S / i — S [Option ID = 25443]

Correct Answer :-
» Geography — R / 7Tl - R [Option ID = 25446]

2) Four friends - Raushan,Parul, Saba and Bhaskar - are to appear for M.A. entrance exams in four different subjects - History, Geography,
Political Science and Sociology - not necessarily in that order. The centres for the exams are in four different colleges A, B, C and D - which
is situated in 4 different places - P, Q, R and S - not necessarily in that order. It is also known that: Parul’s examination center is C. The
college assigned to Sociology is B, which is situated in Q. The friend, whose exam centre is A, is to visit S to take his/her exam. Saba has
applied for History. Raushan is to visit R to take his exam.

IR i - A%, ured, a3 YRR - °R At fwal sfoer, yme, I fagm ok JareRmd § (330 $0 § T8)) .U, vaw udien § 961
a1ed &1 wien & Fg ur At Aeridemeat A, B, € 3R D # §, St IR S@-3e W — P, Q, R 3R s (3¢t 0 # 7€ ) A 81 wg it 70 & & u=a
muﬂa&;ﬁcél FHISARA B U B AeTfaeray # g1 8, ol W Q # fRyd g1 ory forsr 3t wian &1 %% A 7, S wdien § 339 & Rl w s &
SITHT |

et 3 sfaema $1 wden ¥ g smde fFar § ok Jxmr #t wiien 37 & g ®=m R A S ghm

Bhaskar’s exam centre is

UREHT BT T F% &
[Question ID = 6362]

1. D [Option ID = 25442]
2. B [Option ID = 25441]
3. A [Option ID = 25439]
4. C [Option ID = 25440]

Correct Answer :-
* B [Option ID = 25441]

3) Four friends - Raushan,Parul, Saba and Bhaskar - are to appear for M.A. entrance exams in four different subjects - History, Geography,
Political Science and Sociology - not necessarily in that order. The centres for the exams are in four different colleges A, B, C and D - which
is situated in 4 different places - P, Q, R and S - not necessarily in that order. It is also known that: Parul’s examination center is C. The
college assigned to Sociology is B, which is situated in Q. The friend, whose exam centre is A, is to visit S to take his/her exam. Saba has
applied for History. Raushan is to visit R to take his exam.

IR O - A=, U d, W 3R URSR - IR fafirs fawat sfagm, e, i g ok qurerme 9 (330 w0 § A8 T, uaw wdten § S
TTed 1 e & $x IR fafia wgifaemedt A, B, € 3% D # 8, il IR SeT-3e Wl - P, Q, R 3R S (33 wa & 7Y ) ¥ 21 95 ft 3 @ & wrew
BT UNET $5 C 2| FHSNRA D1 Uam B Aoy § 11 8, Sl Wi Q # fRyd 21 For frxr 3t wian &1 g A 7, 39 wdien § 389 & Rl wA s

ST e
1T A i B wdan & e e forar § ok A3 31 wdien 3 & e wu= R & ST B

Which is the correct ‘place — centre’ combination for Saba?
1aT & T T RIH-Fs AU B 9182
[Question ID = 6361]

S — A [Option ID = 25436]

S — B [Option ID = 25435]

1.
2.
3. Q — A [Option ID = 25437]
4. Q — B [Option ID = 25438]

Correct Answer :-
e« S—A[Option ID = 25436]



4) Four friends - Raushan,Parul, Saba and Bhaskar - are to appear for M.A. entrance exams in four different subjects - History, Geography,
Political Science and Sociology - not necessarily in that order. The centres for the exams are in four different colleges A, B, C and D - which
is situated in 4 different places - P, Q, R and S - not necessarily in that order. It is also known that: Parul’s examination center is C. The
college assigned to Sociology is B, which is situated in Q. The friend, whose exam centre is A, is to visit S to take his/her exam. Saba has
applied for History. Raushan is to visit R to take his exam.

IR i - A=, Ud, AT 3R URSR - IR Al fawat sfaer i, it e ofik qureRRe 9 (330 B0 § 981 T, uaw e #§ a1
ared &1 wiien & Fg uR fafira Aeriemerdl A, B, € 3R D # 8, Sl IR Se-3e T W — P, Q, R 3R s (M pH #7181 ) # ?1 7 Wi 7 & 5 e
a»‘ruﬁairrﬂhcél TSR & UieT B HeIfdaag A g 8, MRF QA REAFI PRIt A then F1Iz AR, SA THen A 53 F R = s o
ST 1

I1a1 7 3foeTd F wdien & Riw 3mde forar @ 3k Axm &) wdien 37 & e == R & ST 81 mI

In which place is Parul’s exam centre located?

e BT UeT H frd TF R Ry @2
[Question ID = 6360]

1. Q [Option ID = 25433]
2. P [Option ID = 25432]
3. S [Option ID = 25431]
4. R [Option ID = 25434]

Correct Answer :-
o P [Option ID = 25432]

Topic:- DU_J18_Bed_Topic04

1) In 2018, the chief guest(s) on the Republic Day celebrations in India was/were
2018 H, URd & U feaw wuRIE # g Sifafy &

[Question ID = 6377]

1. Mohammad Bin Rafsanjani / FIgHg fa X®GESTH! [Option ID = 25499]

2. Mohammad Bin Zayed al Nahyan / Hewe faT T 3@ AR [Option ID = 25502]
3. Heads of BRICS nations / fSi@& (BRICS) %@%ww&[ [Option ID = 25500]

4. Heads of ASEAN nations / G& (ASEAN) ?{Qﬁav'w?ﬂ&[ [Option ID = 25501]

Correct Answer :-
« Heads of ASEAN nations / G& (ASEAN) &Il & UgTedal [Option ID = 25501]

2) Given below are the steps to test the presence of proteins in a food item

i. Take a small quantity of the food item in a test tube, add 10 drops of water to it and shake it.
ii. Make a paste or powder of food to be tested.

iii. Add 10 drops of caustic soda solution to the test tube and shake well.

iv. Add 2 drops of copper sulphate solution to it.

Which of the following is the correct sequence of the steps?

R Ry T wew, @ uerd & M ot el #1 wfem v & g §

i. U % oga ¥ @re verd &1 St A &, 39 Ut @5t 10 9 et o 39 fiemg
ii. R 1Yo T T G &, SHHT T U U1 UGS TG

iii. BIEP HIST & °ieT B 10 gai B U&7 Teft F ey 3 3 et e @y
iv. IR TAbe & °Id Pt 2 g&I B 39¥ ey

FrafafEd & @ $19 O veu I vu 82

[Question ID = 6430]

1. (i), (i), (iv), (iii) [Option ID = 25711]
2. (i), (), (iii), (iv) [Option ID = 25713]
3. (i), (i), (iv), (iii) [Option ID = 25712]
4. (iv), (ii), (i), (iii) [Option ID = 25714]

Correct Answer :-
o (ii), (i), (iv), (iii) [Option ID = 25712]

3) Given below from (i) to (iv) are some food items.
i. Boiled and mashed potatoes

ii. Glucose solution

iii. A slice of bread

iv. Mustard oil



Which of the above will give blue-black colour when tested with iodine?

ﬁ(u)ﬁ(uv)wmmﬁﬁqﬂﬂ%

TS &A1Y W1 fHT oM R IWe d | B4 91 Ter-wran @1 3m?
[Question ID = 6428]

1. (i), (iii) [Option ID = 25704]
2. (i), (ii) [Option ID = 25703]
3. (iii), (iv) [Option ID = 25706]
4. (ii, (iii) [Option ID = 25705]

Correct Answer :-
o (i), (iii) [Option ID = 25704]

4) A ball is travelling with uniform translatory motion. This means that

IS g TP FHH RIFI T $X 381 81 59971 314 & % [Question ID = 6410]

1.itis at rest. / 98 favm Wﬂﬁ%l [Option ID = 25631]

2. the path can be a straight line or circular and the ball travels with uniform speed. / SH®T Y IR G 3fyar qUldR e‘r Hehdl % 3R ﬁ?{ Th JHA dTd J
TId & 21 [Option ID = 25632]

3. all parts of the ball have the same velocity (magnitude and direction) and the velocity is constant. / g 3 Tt 4T &1 391 (GRmTYT U9 fa=m) 96 8 aut 98
7 Td B 1 [Option ID = 25633]

4. the centre of the ball moves with constant velocity and the ball spins about its centre uniformly. / Tig BT Hx 3R AT J Y BT % qur fig 3o Hx &
URa: T T guiF BRet ¥1 [Option ID = 25634]

Correct Answer :-

« all parts of the ball have the same velocity (magnitude and direction) and the velocity is constant. / 7g & T4t YTt &1 37T (afvHTor Td fomm) gar @
T 98 37 fTd 81 [Option ID = 25633]

5) The ‘primary source’ which may not be suitable for understanding the history of colonial India is

i W st shufafkie URa & sfagr &Y 9HsM & e Suged A€ 81 WehdT 8, 98 8 [Question ID = 6386]

1. Land records on traditional *khuntkatti land system’ from Chhota Nagpur / BleT TRTQR ¥ firet URURe® et Yff ariT & Y-S [Option ID =
25537]

2. Novels written by Saadat Hasan Manto / A. WT&d g9 Hel gRT feRd T SU=I1 [Option ID = 25535]

3. Punch marked coins excavated at Atranjikhera / 3fa¥oiael H WGaTs & faa 31gd Ryas [Option ID = 25536]

4. Oral records of an Octogenarian jailor at the ‘Kaala Paani’ / ‘®Tell UHY & T ST T % SIeR & WA ATHCRT [Option ID = 25538]

Correct Answer :-
« Punch marked coins excavated at Atranjikhera / 3faeiasT H WaTs § fAwd 3med fyad [Option ID = 25536]

6) Following are some features of plants

i. They lose a lot of water through transpiration.

ii. Their leaves are always broad and flat.

iii. They lose very little water through transpiration.

iv. Their roots grow very deep into the soil.

Which of the combination of above features are typical of desert plants?

el 1 g Rrdwant FrafifEa §
i. ¥ TSl ¥ ATeOH | 9gd IR U Ifa B 33§
ii. 3T ufRrai gART FTUS 3R WuTe it 7|
iii.  TIRIYUT & AW | 9§ HH UM IAfd 37 34 &
iv. ST 1S gt A wgd Ted Wl §)
IRIa faRarai &1 H1F A1 T TRy diel 31 AR deror # ok §Ra w3d 82

[Question ID = 6398]

1. (i), (ii) [Option ID = 25586]

2. (iii), (iv) [Option ID = 25583]
3. (ii), (iv) [Option ID = 25584]
4. (ii), (iii) [Option ID = 25585]

Correct Answer :-
« (iii), (iv) [Option ID = 25583]



Reducing infant mortality helps control the growth of population by
¥ gRT, TG &3 § S @ 9fF <X ) Frifia St & [Question ID = 6470]

1. protecting the health of the mother / ATdT & WA H1 YRI& FXP [Option ID = 25872]

2. preventing the tendency to choose the sex of the pre-natal child / STH Elﬁ INUED gA1d Edl EIT{T%{ P APBI [Option ID = 25874]

3. controlling repeated child birth to compensate for the mortality / &g &) P HH qﬁ' P foN SRR ﬁ]‘-‘q T R 0 T@aR [Option ID = 25871]
4. increasing the gap between two births / &I RRI[3f & S & oI & 3R BT FGIHX [Option ID = 25873]

Correct Answer :-
« controlling repeated child birth to compensate for the mortality / g & &t B! gfdf & forw aR-IR R I W =101 TR [Option ID = 25871]

8) In India, a village is considered electrified if

YRd ® TH Tia &t fagafigd o siar @ o9
[Question ID = 6393]

1. 10% of households and public places such as schools, panchayat office and health centres in a village have access to electricity. / TMd & 10% TR quUT
d, TIRId BT 3R WY $5 oY e RId d@ [ ugd 9@t 81| [Option ID = 25566]

2. all basic infrastructure such as distribution transformer and lines are set up in the inhabited localities including Dalit hamlets. / &ferd &l 98 o
Faract # gt gfardl g S8 gramRY T faaRur SR @rsHl %1 S fY@T &1 B I 8 g1 §Y| [Option ID = 25563]

3. all households have access to electricity. / T+t TRi # faoiell Ugd ga&! &1 [Option ID = 25564]

4. at least half of the inhabited areas of the village is powered through the off-grid system. / 3{T5-fIg TTAT §RT i & S¥Tae & HH-G-BH M1 &1 &

fagadiaur 1 g&! §1| [Option ID = 25565]

Correct Answer :-
* 10% of households and public places such as schools, panchayat office and health centres in a village have access to electricity. / g ¥ 10% TR qUT

W@, TaTad S 3R WG $g S GIdei-e el deb faoi! Uga gt gl| [Option ID = 25566]

9) If one of the zeroes of the cubic polynomial x3 + ax2 + bx + c is —1, then the product of the other two zeroes is

Tfe PraTa 9gue ¥ LS F A TH, x3 + ax? + bx + ¢, —1 §, @ 37 &) YAD! T UG ¢
[Question ID = 6374]

1.a—-b + 1 [Option ID = 25489]
2. a—b -1 [Option ID = 25490]

3. b—a—1[Option ID = 25488]
4. b-a + 1 [Option ID = 25487]

Correct Answer :-
e b—a+ 1[Option ID = 25487]

10) Rabbi, sitting on the last bench in a class, can read the words written on the black board but is not able to read the letters written in
her text book. This is because

T W Tad TS 99 1R 34 vl U wR R arer) o) ug qebdt 3, TR UTey Yhaw H i@ srer) &Y 1Y ug urdt | ¥ gafene € i
[Question ID = 6415]

1. the far point of Rabbi's eyes has receded away / I&d & =3 &1 gR fig 39 g g1 T 2| [Option ID = 25654]

2. the far point of Rabbi's eyes has come closer to her / Isd % 5 BT gR fig ITP U 31T T B [Option ID = 25653]

3. the near point of Rabbi's eyes has receded away / T&8t & =7 BT e foig SHY R & 741 | [Option ID = 25651]

4. the near point of Rabbi's eyes has come closer to her / I&&it & 93 &1 e ﬁ'{; IYF R 3T T %l [Option ID = 25652]

Correct Answer :-
« the near point of Rabbi's eyes has come closer to her / I&d % 3 T fdhe fig 3T URT 31 711 8] [Option ID = 25652]

11) In a two dimensional motion, instantaneous speed Vj is a positive constant. The statement which is necessairly true is

ot fafantta wifer & areeifore o v ¥ uFTeTe fPradie 1 Frafafea § st ou= siffeda: 9w g, @6 8
[Question ID = 6409]

1. The acceleration of the particle is necessarily in the plane of motion. / Ul &1 @Rl Sfarda: wfa & 9 o %I [Option ID = 25629]
2. The acceleration of the particle is zero. / ®UI T @RUT A %I [Option ID = 25627]

3. The acceleration of the particle is bounded. / HUT BT @R IRes g [Option ID = 25628]

4. The particle must be undergoing a uniform circular motion / P B Th THH Q?ﬁHTrﬁaﬂ_*ﬁﬂT%'QI [Option ID = 25630]

Correct Answer :-
« The acceleration of the particle is necessarily in the plane of motion. / &0 &1 XU Sfyaria: nfd & aa A B [Option ID = 25629]



12) In an activity, Maria dissolved a small amount of solid copper sulphate in a tumbler half filled with water. Which method would she
use to get back solid copper sulphate from the solution?

wﬂﬁﬁﬁ?ﬂﬁ,mﬁuﬁﬁmﬁﬁmﬁm@mﬁmﬁ‘mvmaﬁmﬁm | 9T ® ¥ 319 qieT Hethe 91U U & g 98 fw faftr &1
ITART ?

[Question ID = 6420]

1. Sedimentation / 3{ddTG [Option ID = 25673]
2. Condensation / T9= [Option ID = 25674]

3. Evaporation / aTSfi®RUT [Option ID = 25672]
4. Decantation / IRESIEUE [Option ID = 25671]

Correct Answer :-
« Evaporation / GTfi&RUT [Option ID = 25672]

13) In a class of thirty three students, Rohit’s rank is 12th from the top, but his twin brother Sahil is 4 ranks above from him. What is
Sahil’s rank from the bottom?

Afa oEl & T o 4, AR 1 =M R @ 12 71 B, AT TP Jeai WIS TR STR IR VM SR 21 1 A Fifite &1 wF | g2
[Question ID = 6366]

1. 26 [Option ID = 25457]
2. 25 [Option ID = 25455]
3. 21 [Option ID = 25456]
4. 29 [Option ID = 25458]

Correct Answer :-
« 26 [Option ID = 25457]

14) ‘Population distribution’ refers to
SIS fIavor ¥reg @ arad ® [Question ID = 6406]

1. the number of people who die in relation to the number of people born in a specified area. / el fafdry &1 o 571 o1 e ol & T | qHG ured B
9Tl AT T BT [Option ID = 25616]

2. how population in a specified area changes over time. / farat faf¥ry &= & THg & T e ¥ 9 YR uRad g1 8| [Option ID = 25615]

3. the way in which people are spread across a given area. / fardil fa@ gl & o an farg vu # faafed %l [Option ID = 25617]

4. a graphical presentation of the age and sex composition of a population / JTETE! B 3 3R fofT = & Safad Elﬁf%f [Option ID = 25618]

Correct Answer :-
« the way in which people are spread across a given area. / bt iU gu & & @it for $u o faafka | [Option ID = 25617]

15) Kabir wants to present her friend a gift made of plant-fiber. Which out of the following will he select?

FAR U G PI UIGY dg | I SUSR 1 916dT 3| 98 Fafiiea & § o a1 994 o ?
[Question ID = 6431]

1. Woolen shawl / 3=t 1@ [Option ID = 25716]

2. Jute bag / Ue¥/S[E T AT [Option ID = 25715]
3. Nylon scarf / WW@U@T [Option ID = 25718]
4, Silk saree / Y WIS [Option ID = 25717]

Correct Answer :-
o Jute bag / UCHA/SC &1 e [Option ID = 25715]

16) With the emergence of a new culture of print in twentieth century India, the effects of novels on readers included

i. advising people to stay away from the immoral influence of novels; some parents keeping novels in the lofts in their houses, out of their
children’s reach

ii. making it mandatory for women and children to read novels as they were not easily corruptible

iii. young people often reading them in secret

iv. older women- some of whom could not read- listening with fascinated attention to popular Tamil novels read out to them by their
grandchildren- a nice reversal of the familiar grandma'’s tales

ATt URa ® ggor (i) &t 78 Tpia & Sgd F 1Y, UeH! IR IuUril & yHTal § =nfde o7

i. AT Yt TraTg 31 fp A U= & A gwuma A 99; $o sifiiurae! gRT SU=IR $T A T=il 9 UgT @ R o W fvures 3@

iii. AfgaTa v a=A & fore Su=ar yeA Sifvrard =, i I S & yftra 7Y foma S wepar Ut

iii. garail gRT SR 38 TN-R5Y ueT ST

iv. TS1-gY Ay, St smHdk W udl-freht =t <f, 39% R de i aftra Su=mil 3t 39 Wa-uifaat g1 U WM W S} aeehi=daT & AT S,
& SrdY-arit Ft S-ugaT Heal ¥ twen Sae of

[Question ID = 6384]



1. (i), (ii), (iii) [Option ID = 25527]
2. (i), (i), (iv) [Option ID = 25528]
3. (i), (iii), (iv) [Option ID = 25529]
4. (iv) [Option ID = 25530]

Correct Answer :-
(i), (iii), (iv) [Option ID = 25529]

17) In the context of ‘communalism’, the incorrect statement is

AEIRar & <5 #, st YT W 8 §, 98 € [Question ID = 6391]

1. Communalism seeks to define community identity as fundamental and fixed. / BSIES G Fﬂiﬂ'@ﬁ UgaH &I W 3R 3ed A %I [Option ID =
25556]

. Communalism attempts to consolidate community identity and present it as natural- as if people were born into the identity, as if the identities do not
evolve through history over time. / TSGR TGS TgaH &) U WIHTAS SR THEHR URgd Bl 3, T @ U Uga da) e gU g, o
HTRTATE 3BT 3R THT & IR A TeRd gU scaal -8l 8| [Option ID = 25557]

3. Communalism encourages distinctions within the community and underplays the essential unity of the community against other communities /

Tt ot g # Sidike bl &1 TeTan <l § SR I FHAT &I Herd Uebdll I 3 FHR & g 31qul U I Hufed Pl 8| [Option
ID = 25558]
4. Communalism is a politics that seeks to unify one community around a religious identity in hostile opposition to another community. / TGRSl 39

oI BT BT ST @, St efifer el & ot fadly 3R 9T AT St 8] [Option ID = 25555]

N

Correct Answer :-
« Communalism encourages distinctions within the community and underplays the essential unity of the community against other communities /

eI fordt ot Tara § SdRe B! B FgTaT oot § SR IU THE™ $ [ Thdl $ 30 THar & favs 3qul FU ¥ Jurfad Hdt g
[Option ID = 25558]

18) In the context of ‘gender’, the statements which will not be acceptable is

Sev ¥ T # oY By Wiert 7€l 8, 98 { [Question ID = 6407]

1. Gender concerns need to be addressed in terms of making the perspectives of women integral to the discussion of any contemporary concern. / et ot
THBTAA YT B 7= § Afgarsii & VB0 B GHIB I BT, Sex TET B afid B b 1Y 31a=ae® 7] [Option ID = 25622]

2. Gender refers to a range of characteristics used to distinguish between males and females and the masculine and feminine attributes that they possess. /
SieR gow 3R Afgarel iR 3% §RI BuE 3R Wi Bt faRwareli & de 3iaR B % fu Iugi @t o arelt faRiwarsh Bt g &) Yeiid B g
[Option ID = 25620]

3. Gender is a social construct. / &% T TS FAffR §| [Option ID = 25621]

4. The term ‘gender’ is a biological construct. / SI¥’ 3@YURUN Teh wfde FfHd B | [Option ID = 25619]

Correct Answer :-
« The term ‘gender’ is a biological construct. / S’ 3RO U W3 Ffff § | [Option ID = 25619]

19) In the context of contemporary debates on 'dates and periods' of Indian history, the correct statement would be

yRdtT gfaer & R ok srar & gwamaie are-farg & de # W) $u= R [Question ID = 6389]

1. a chronological division based on ‘Ancient-Medieval-Modern’ periods is correct as symbols of modernity- science, reason, liberty, equality and democracy-
came into existence only in the modern period / ‘TEIH-HEd-3MYfH’ HTA HHIGA TR AR fFHSH T ¥ T enyficar & udie - fage, b,
T, THMAT 3R Adhe- Fad MYd Hrat & & 3T T MY [Option ID = 25549]

2. a periodisation like *Hindu-Muslim-British’ is appropriate as the religion of the rulers has been the only important historical change / ‘%g—gl?@q—@ﬁw St
HIATAY SUGE §, T AT BT ¢ 8 THH As@yu UfaeTRie URkad= 38T § [Option ID = 25548]

3. it is problematic to assign precise dates and time spans to ‘historical processes’ that happend over a period of time. / Wil GHaTEe # Gfed g1 arelt
ARy ufsparsil o FfE Ayt ok S1a fayTsHi & sfarfd a1 ™IS @ [Option ID = 25550]

4. a division like ‘Hindu-Muslim-British’ periods is correct as a variety of faiths did not exist simultaneously in all these periods / ‘fég-gfeaa-fafexr Hamafy
S faUTSH U Wel €, e 37 Tt orafial # fafiis yeR 3 ety we Ay HiNgg et off [Option ID = 25547]

Correct Answer :-

« it is problematic to assign precise dates and time spans to “historical processes’ that happend over a period of time. / T FHATGY H Gfed g+ ara
‘e ufparsit & fAfera fafdat sik S1a fauTeHT & 3faria T THEITES & [Option ID = 25550]

20) Many organic substances are negatively charged e.g. acetic acid, while others are positively charged e.g. ammonium ion. An amino
acid under certain conditions would have both positive and negative charges simultaneously in the same molecule. Such a form of amino
acid is called

AP B Uerd, 3 Wifew ora, Bumars Fu I ARG g1 §, e o7 uerd S iy S, YT w9 9 Sk gid ¥ 1 $9%
giRfRuferal & T 3t &1 U € 31V] U TTY YHTHS 3R BUTHS S UbR | MTARNG 8 Thar 3| TF WA 30T &Y HgT 1l § [Question ID =
6425]

1. Positively charged form / YTdHbd MR & [Option ID = 25691]
2. Zwitterionic form / fSagRaMmaf® ¥4 [Option ID = 25694]

3. Neutral form / I&RIH ¥4 [Option ID = 25693]

4. Negatively charged form / JBUTHD I KICING RS [Option ID = 25692]



Correct Answer :-
« Zwitterionic form / ?ag IS T [Option ID = 25694]

21) The properties of magnet can be preserved by

TP P T B YRI&T @1 oI FdT @ [Question ID = 6414]

1. heating a magnet / Ir &1 TH HP [Option ID = 25649]

2. keeping a piece of iron across the poles of horse-shoe magnet / T D F Q,T:ﬁ P IUH H dig BT Th CH ST XGH [Option ID = 25647]

3. keeping magnets with cassettes, cell phones, television and the computer / T=H B BT, YA B, TATIT R HEER B JHT IFHR [Option ID =
25650]

4. keeping bar magnets in pairs with their like poles on the same side / B THEH & SIS b JAM ¢al P TG-URY G [Option ID = 25648]

Correct Answer :-
» keeping a piece of iron across the poles of horse-shoe magnet / ATl g & ﬂﬁﬁ F U | AR BT Th gh ST IEHR [Option ID = 25647]

22) A vesselless piece of stem possessing prominent sieve tubes would belong to

WY & TIiepRiTd gpe A Sl Ty Ara-t ATfreg uré oird §, 37T WY | [Question ID = 6424]

1. Pinus / S ¥ [Option ID = 25687]
2. Trochodendron / SBIES1H ¥ [Option ID = 25690]

3. Eucalyptus / G&H P § [Option ID = 25688]
4. Grass / 9™ J [Option ID = 25689]

Correct Answer :-
« Trochodendron / Ei&Tag ¥ [Option ID = 25690]

23) The Public Policy matched correctly is
W O gURIa Irdwf=e ifd & [Question ID = 6397]

1. Padhe Bharat Badhe Bharat----Scholarship for students of North East India / EI% HRd Tﬁ HRd ----G?R-Eﬁ YR & T & forg @Iﬁ?{ﬁ{ [Option ID =

25580]
2. Ishan Uday --------------------—- Scholarship for differently abled children / SR JE =-----=------ feaiTor! & forg BTgd [Option ID = 25579]
3. Saksham -------------=-mmmemev| Ensuring quality at classes 1 and 2 / Q&H -----------------—- FHeT1au 2 H RIWECKIE ﬁﬁﬁiﬁm [Option ID = 25581]
4. Pragati -----------==-=-=mmmmmmn Scholarship for girl child for Technical education / W [ e——— ifcrpratt & ae-te! Rien & o & o areh maqﬁr

[Option ID = 25582]

Correct Answer :-
B e o ————— Scholarship for girl child for Technical education / TR -----------===---- qiferepTal B de-ie! Riam & fag & = arelt
@I [Option ID = 25582]

24) The statement which is incorrect in the context of growth of nationalism in India is that

YR & gag & e & we & Tad Y= 9% 3 fF [Question ID = 6387]

1. the Congress under Mahatma Gandhi tried to forge different groups together within one movement / TgTE el & Aqd & SR  fafld Iqerl &1 &
figra & forg JgR faan [Option ID = 25541]

2. each class and group felt the effects of colonialism in a similar way, their experiences and their notions of freedom were always the same / TS 1t 3R
e 3 IuARETE & YHTE! B U g aRE § A a1, 3% gHd 3R Waadl & R Td U WA U [Option ID = 25539]

3. the growth of modern nationalism is intimately connected to the anti-colonial movement / 3TYfd YaTE &1 fadr Shufafe-fadie sidem ¥ ofg &
Y ST §3M & [Option ID = 25542]

4. a sense of being oppressed under colonialism provided a shared bond that tied many different groups together / JUfARIATE & dgd IASd B & UG
3 T aren e fawfia fasan, foram fafirs wgeml &1 Ue W1y SiieA &1 %M a1 [Option ID = 25540]

Correct Answer :-
« each class and group felt the effects of colonialism in a similar way, their experiences and their notions of freedom were always the same / UdP aif

3R THEr 3 IUMARETE & YUTE H TF 8 Re U Tegy a1, 9% 3Hd 3R Waadl & f3gR T¢d U I0H & [Option ID = 25539]

25) The statement which is true regarding participation of various classes and social groups during the Civil Disobedience Movement is

TfeTg 3ra sigta & SR IR Tt v arfore aqerl @t Uit & ey § oY $U= 99 8, 98 @ [Question ID = 6388]

1. industrial working class participated in large numbers throughout India / $TENRIE HegR ¥ F ¥ HRA H SraT T & HIT frm [Option ID = 25545]

2. dalits' participation was strong especially in Maharashtra / Gferdl @t UFieR! yad off, favy w0 9 T [Option ID = 25543]
3. rich peasants communities like Patidars and Jats were not active in the movement / SfiereH # UrdigR e S TH& feam e giepa T8t & [Option
ID = 25546]

4. women from high caste families and rich peasant households participated in large scale / 3= Sfa &1 Afgarsi 3R TH& four afart 3 EI% TN W U
fora [Option ID = 25544]

Correct Answer :-
« women from high caste families and rich peasant households participated in large scale / 3= SIfa @} Afgarstt iR TG frar oRaR! 3 98 T9H W
YT foraT [Option ID = 25544]



26) The statement which is not true regarding the characteristic of minerals is / fFrafafEa 3 & #19 o1 oy @l F Kva & g & a8
8t § [Question ID = 6402]

1. their distribution is uneven / 3T fAaRUT 3GHM BidT ] [Option ID = 25602]

2. they are created by natural processes / 3 WTdfae fsharali gRT ffEfd 81d § [Option ID = 25599]

3. they are inexhaustible / 3 3RFHTE 814 & [Option ID = 25601]

4. they have a definite chemical composition / 3-1eT Ue ff3d I T 8T § [Option ID = 25600]

Correct Answer :-
« they are inexhaustible / 3 AT Bld & [Option ID = 25601]

27) Raka went to wildlife sanctuary where she saw dense vegetation of trees, shrubs, herbs and also a variety of animals like monkeys,
birds, elephants, snakes, frogs etc. The most likely location of this sanctuary is in the

T ISt JIHARYY § TS T8t 394 U, gnfear, sigl gfeat ok dew, ueh, grefl, 9iv, Hew anfe 9 fafis yopR & wiHaR) &1 3@ 59 3ryuRvg &1
A FUTFIT I 8

[Question ID = 6399]

1. polar region / iﬁﬁq &4 [Option ID = 25589]

2. temperate region / THERIAIYT & [Option ID = 25587]
3. tropical region / SWIGTcs e &5 [Option ID = 25588]
4. coastal region / e [Option ID = 25590]

Correct Answer :-
« tropical region / IV eEHIT & [Option ID = 25588]

28) The practice which will not conserve LPG in your kitchen is

et TS § wa. . off. WRidr 7 8 & SR 8 GHa & [Question ID = 6401]

1. soaking dal for some time before cooking it / TS ¥ Ugd $& THT & fod aTd fT &% TG [Option ID = 25595]

2. keeping the vegetables chopped before lighting the gas for cooking / Y ST & Ugd Jiowd! die B 3G [Option ID = 25597]
3. cooking food in a pressure cooker / ﬁmwﬁ WS g [Option ID = 25596]

4. cooking food in an open pan kept on low flame / ofieft ﬁqlﬂ@ﬁfﬁﬁh T Yo uBT [Option ID = 25598]

Correct Answer :-
» cooking food in an open pan kept on low flame / it g W Q@IER'&T T IS T [Option ID = 25598]

29) If the circumference of a circle and the perimeter of a square are equal, then

afe ©w g9 3t aRkf R TF a7t @1 ufkag R B, @
[Question ID = 6376]

1. Nothing definite can be said about the relation between the areas of the circle and square. / I 3IR T & &=thal & o9 F e H (T U F 78 &1
Dgl Sl Jhdl [Option ID = 25498]

2. Area of the circle = Area of the square / 91 T %A = I BT §IBA [Option ID = 25495]

3. Area of the circle < Area of the square/d< &1 QTS < T BT AFHS I [Option ID = 25497]

4. Area of the circle > Area of the square / g &I &P d > T BT &TBA [Option ID = 25496]

Correct Answer :-
» Area of the circle > Area of the square / g &I &A% > T BT &THA [Option ID = 25496]

30) If the time of sunrise in Arunachal Pradesh is 6.00 A.M. then the probable time of sunrise in Gujarat will be

Tf SrevTad USRI ® YA BT AT 6.00 A.M. § A ToRTd § SruIfa wHg ghm
[Question ID = 6400]

1. 6.30 A.M. [Option ID = 25591]
2. 8.00 A.M. [Option ID = 25592]
3. 5.30 A.M. [Option ID = 25593]
4, 7.00 A.M. [Option ID = 25594]

Correct Answer :-
« 8.00 A.M. [Option ID = 25592]

31) A person suffers punctures in his chest cavity in an accident, without any damage to the lungs. Its effect could be

ot gefeT ® uw aafda & WA & Bwsl o famr efay ugame gRra 8 9 8 | 9 yuTfad &% WhdT @ [Question ID = 6422]

1. reduced breathing rate / &1 @1 &= & & [Option ID = 25679]
2. cessation of breathing / TT¥ BT ¥ T [Option ID = 25682]



3. no change in respiration / 4 o Tﬁ% gRac et [Option ID = 25681]
4. rapid increase in breathing rate / g PR AN q@ [Option ID = 25680]

Correct Answer :-
« cessation of breathing / T &1 ¥ ST [Option ID = 25682]

32) The converse of the statement ‘If Bunty secures good marks, then he will get a bicycle’, is

H A BH-I1 HYF G T 3D 3P U BT, ) I/ TP A5ipd el &1 4 82 [Question ID = 6369]

1. if Bunty will not get bicycle, then he will not secure good marks
i 5 %I Arsfra T8 frah, & a8 sy 3id &l U S [Option ID = 25467]
2. if Bunty will not get a bicycle, then he will secure good marks
Ife & o1 Arsfora T8 fAertt, O 98 3wy 3@ YT ST [Option ID = 25470]
3. if Bunty will get a bicycle, then he will not secure good marks
Ife 5 &I Trsfera frerft, @ 98 sy 3id =781 U S [Option ID = 25469]
4. if Bunty will get a bicycle, then he will secure good marks

Tfe 9 @) argfora fieh, O a8 3=y 3 U B [Option ID = 25468]

Correct Answer :-
« if Bunty will get a bicycle, then he will secure good marks

e & P! rgfora firarht, G 98 3=y 3i% U S [Option ID = 25468]

33) In the following question, a statement of Assertion (A) followed by a statement of Reason (R) is given. Choose the correct option out
of the choices given below.

fFrafafad vy & siieym ok aF & Py e ¥ | A i faeal & @ 9 fawew &1 9g+ Fifvr |

Assertion (A) : Ozone is destroyed by solar radiation in upper stratosphere. Reason (R) : Thinning of the ozone layer allows excessive
Ultravoilet radiations to reach the surface of earth.

AMUBHYA (A) — WR-FATHR0T gRT HUH HaTg Hed & Wi Y & Wt § | 9 (R) — W R & Uaell g1 R i RIS fAfpor 3y — g8 w
TEAWRF |

[Question ID = 6418]

1. Both A and R are correct but R is not the correct explanation of A. / A 3R R I el § W R, API gt WEleRr T B [Option ID = 25664]
2. Both A and R are correct and R is the correct explanation of A. / A 3R R H & % Td R, A DI REECEICR %I [Option ID = 25663]

3. Both A and R are not correct. / A 3R R &I 9! Tél § | [Option ID = 25665]

4. Ais not correct but R is correct. / A I8! el § TR=g R T&! 81 [Option ID = 25666]

Correct Answer :-
« Ads not correct but R is correct. / A Tg! &l & TR=g R T&! §1 [Option ID = 25666]

34) In the following question, a statement of Assertion (A) followed by a statement of Reason (R) is given. Choose the correct option out
of the choices given below.

frrafafad vy & aftrpya 3k 0b & Fua R € | TR A faewul # @ T8 e &1 w9= FifvmT |

Assertion (A) : Spontaneous process is an irreversible process and may be reversed by some external agency. Reason (R) : Decrease in
enthalpy is a contributory factor for spontaneity.

SARFUT (A) -ga-cr: wafda wehd T STwhuvg WhH 8 N7 fBt aTer wiich gRT Iopfid 81 Webdl 8| ad (R) - ¥ad: Yafdar & g v & w1t v
dl‘laldl PR B

[Question ID = 6417]

1. Both A and R are true but R is not the correct explanation of A. / A 3R R aIFl T8I § TR=g R, A FT Tt WBIHRT Tal &1 [Option ID = 25660]
2. Both A and R are true and R is the correct explanation of A. / A 3R R I TE § wd R, A T g1 WHHUI H| [Option ID = 25659]

3. Ais false but R is true / A TTAd 8 UR=] R TEt §1 [Option ID = 25662]

4. Ais true but R is false. / A gl § TR=g R 7ad 81 [Option ID = 25661]

Correct Answer :-
« Both A and R are true but R is not the correct explanation of A. / A 3iR R &I TE! § TReg R, A &T &t WHIHU & 1 [Option ID = 25660]

35) In the following question, a statement of Assertion (A) followed by a statement of Reason (R) is given. Choose the correct option out
of the choices given below.

frafafed vy & sifipya ok 9 & Py R § | TR A el # @ 96 e o1 9= Fifvm |

Assertion (A): For any chemical reaction at a particular temperature, the equilibrium constant is fixed and is a characteristic property.
Reason (R): Equilibrium constant is independent of temperature.

3P Y (A) - Fraa aru W B Tmate sififirar & W g1 & R ar fRR1E Fad giar § iR a8 33T sifiaearide quent 81 9@ (R) - 9/
fRRI® 9w AR 78 B

[Question ID = 6416]

1. Both A and R are true but R is not correct explanation of A. / A 3R R I TE! § TReq R, A BT TE! WHIHRUT -Tel 81 [Option ID = 25656]



2. Both A and R are true and R is correct explanation of A. / A 3R R 3 el § wd R, A &1 WEIHRUI L [Option ID = 25655]
3. Both A and R are false. / A 3R R &I 7Tad 21 [Option ID = 25658]
4. Ais true but R is false. / A gl § TR=g R 77ad 8| [Option ID = 25657]

Correct Answer :-
« Adstrue but R is false. / A Tgl 8 TR=g R 7T&d 21 [Option ID = 25657]

36) In the following question, a statement of Assertion (A) followed by a statement of Reason (R) is given. Choose the correct option out
of the choices given below.

Frafafea vy & siftrpya 3k 9 & Py R § | TR R el # @ 6 e &1 9= Fifvm |

Assertion (A): Gases do not liquify above their critical temperature, even on applying high pressure. Reason (R): Above critical
temperature, the molecular speed is high and intermolecular attractions cannot hold the molecules together because they escape due to
high speed.

SFUBYT (A) - 3T Hifad a9 F 3if¥e arv W - 3= g1 T W W wfaa 78 &1t 9 (R) - wifaw 90 @ 3ifte @ wR, sropeif &1 nfa srafte
FIelt B SR ST S gt Supaif Y A1y 1LY 3@ ura Tl i ¢if¥s 1 b HRUI 98 T A 99 W@ 7

[Question ID = 6419]

1. Both A and R are true but R is not the correct explanation of A. / A 3R R G TEt § TReq R, A T el o PRI 2| [Option ID = 25668]
2. Both A and R are true and R is the correct explanation of A. / A 3R R Gl Tg! € TF R, A HT Tt WBIHRT 3| [Option ID = 25667]

3. Alis false but R is true / A 7Ted § TR=q R T&t 81 [Option ID = 25670]

4. A'is true but R is false. / A gt § UR=g R T &1 [Option ID = 25669]

Correct Answer :-
« Both A and R are true and R is the correct explanation of A. / A 3R R et HBCT % T4 R, APT E?f W@WUT %I [Option ID = 25667]

37) In the context of ‘protectionism’, the true statements would be

i. it is a policy to protect the domestic industries from foreign competition.

ii. it is done by imposing tariffs on foreign goods,allocating import quotas and resorting to other trade regulations.

iii. it enhances free flow of goods and services internationally and is a departure from free trade.

iv. protectionist policies have been significantly reduced in most countries through negotiations under ‘GATT’ and ‘WTO'.

WREETE F goH 7, TR PuT e

i. 7% =T I &1 fae=h wfogef & oM &t Aifa 3|

ii. U8 fa3=i avgait W W[ TSR, 3TUTd HleT Tiedh 3N 37 AR Frawl &1 e dAb forar wrar g

iii. ST SiTRTd I=RTPIY TR W TGS 3R Hanafl F Yo YaTg $Y T¢TaT 31 a1 o ATUR § W g1 3|

iv. TReTE® Hifaal @) aiftreiw o # e’ aur ‘sey, &80’ & Siaiid fPT T FHShG! GRT BTEI 8¢ b HU B 41 T |

[Question ID = 6404]

1. (i), (iv) [Option ID = 25608]
2. (i), (i), (iii), (iv) [Option ID = 25610]
3. (i), (ii), (iii) [Option ID = 25607]
4. (i), (ii), (iv) [Option ID = 25609]

Correct Answer :-
o (i), (ii), (iv) [Option ID = 25609]

38) In the context of ‘Human Development Index’ (HDI), the true statements would be

i. it is a composite index of outcome indicators to measure level of social and economic development of a country.

ii. it is based on three dimensions: life expectancy at birth, mean years of schooling and literacy rate and standard of living.

iii. the HDI makes it possible to analyse the changes in development levels of different countries over time for the purpose of comparison.
iv. HDI has the explicit purpose to shift the focus of development economics from people-centered policies to national income accounting.

U4 fAPT Gawic (HDI) ¥ T<u o gt By §

i. T8 T & WA quT ffh e ¥ TR $1 U9 & URUmT GFas! o1 qifed gaoi ¢ |

ii. T8 T MATHI-SA & AT Sfta & wear=n , e ® v 9 3Av QIeRdT o 9UT I§9-Hed &b WR- W Ut B

iii. A9 fA®TH YaPi® (HDI) T & 3T A THY & 1Y fafira =0 & TRt & uikad=l &7 faxawor &1 G4g a1 8|

iv. A9 3P Ya&i® (HDI) BT WE S5, e srdwd & F=iia Ui o 51- Sfsa Hifodt & T sma dwie 3t 3R WA $33 $18|

[Question ID = 6405]

1. (i), (iv) [Option ID = 25612]

2. (i), (ii), (iii) [Option ID = 25613]

3. (i), (iii), (iv) [Option ID = 25611]
4. (i), (iii), (iv) [Option ID = 25614]

Correct Answer :-
(i), (ii), (iii) [Option ID = 25613]



39) In the context of Delhi Sultanate, the authors of tawarikh (histories)
ool wewTa & wwo o § qartw (sfer) & dwe

[Question ID = 6390]

1. lived mostly in the villages to understand the lives of the masses / SdT & Siia- &) A & forT SUTGTAR TMidl # T§d & [Option ID = 25552]

2. often wrote objective histories for Sultans without any hope of rich rewards / SgHcd WR}[ oI e & o {ﬁﬂ:ﬁ ¥ forg Ty sfasma foran FA Y
[Option ID = 25553]

3. were learned men who both recounted events and advised rulers on governance and just rule / Ui 1T 3, 6 TeTaii &1 9o foar iR Iy &
T B! eTe) <M B B Gellg < [Option ID = 25551]

4. advised rulers on the need to preserve a social order without any distinction based on birth and gender / STH 3R o1 & SMyR W 1 {3t Ag-Ha &
TS TR ) IRFET [ B! FaTe <d & [Option ID = 25554]

Correct Answer :-

« were learned men who both recounted events and advised rulers on governance and just rule / U R | é), 817 gemsif &1 auiF fear 3R RIS
AT B 98] M HRA B TaT8 & [Option ID = 25551]

40) Natavar met with an accident in which two long bones of hand were dislocated. Which among the following may be the possible
reason?

AeaR FI gder A g1y B Y 931 BfFaT (Rl o Wi @ ge 18| Frafafaa & ¥ SF-ar uifad F1Ror 8 AT 82 [Question ID = 6427]

1. Areolar tissue break / TREER (1fdeT) FHads &7 geT [Option ID = 25702]
2. Ligament break / |1 &1 ¢cHT [Option ID = 25701]

3. Break of skeletal muscle / SabTal Rik:al ‘g [Option ID = 25700]

4, Tendon break / @RI &1 geAT [Option ID = 25699]

Correct Answer :-
» Ligament break / |G T ¢l [Option ID = 25701]

41) Sensitivity on ‘social justice’ can be encouraged in a classroom by

i. incorporating contemporary excerpts from people’s struggles and stories of advocacy during classroom discussions
ii. explaining the historical context of the Indian social milieu as a heterogeneous group with unequal power equations
iii. engaging in classroom discussions on the constitutional provisions on social justice

iv. prompt corporal punishment on the defaulting children

Pl | IS U F Ui Wdg-=iadr &1 Weed far o Jobar @

i. e ¥ R -faust & SR THeTe 59 e 3R ueRHdT Ft wer~al & 3= &) wita e

ii. YR qraTiores uREaw &1 AeTiiedr & T5uf &1 saren Ue SR e WHIHRU aTd U 9gwTdid J9g & U | P
iiii. ATATR® <ar wR smetlvd Gaenfe uraur=l @) wam gafsi § it e

iv. Be1 F St =t Y gra AR &8 3BT

[Question ID = 6394]

1. (i), (ii), (iii) [Option ID = 25568]
2. (i), (ii) [Option ID = 25567]

3. (iii), (iv) [Option ID = 25570]

4. (ii), (iii), (iv) [Option ID = 25569]

Correct Answer :-
(i), (ii), (iii) [Option ID = 25568]

42) Brain is responsible for
i. regulating the heart beat
ii. critical thinking

iii. guttation

iv. balancing the body

ARRTsp Faverit &

i. §oU WeA & g

iii. ST foad & ferg

iii. figoma & fag

iv. IRR BT HgaT 918 7@ & fg

[Question ID = 6408]

1. (i), (ii), (iii) [Option ID = 25625]
2. (i), (i), (iv) [Option ID = 25623]
3. (i), (iii), (iv) [Option ID = 25624]
4. (i), (iii), (iv) [Option ID = 25626]



Correct Answer :-
o (i), (ii), (iv) [Option ID = 25623]

43) One mapping (function) is selected at random from all the mappings of the set A = {1, 2, 3, ..., n} into itself. The probability that
the mapping selected is one to one is

I A = {1, 2, 3, ..., n} AT (A H ) Tt Bael A V TP Bad gessa1 g1 9T @ | 94 (T3 M) Ba- & THP! g1 &) uiiyewar 8
[Question ID = 53382]
i
(n—1)!

1. [Option ID = 93517]
1

2. ™ [Option ID = 93514]
1

(mn+1)! )
3. [Option ID = 93515]

n!
n

4. " [Option ID = 93516]

Correct Answer :-

n!

« " [Option ID = 93516]

44) ad
The tangent to the curve given by x = e'. cost, y = et. sintatt = * makes with x-axis an angle:

4

TP x = et . cost, y = e sint GRITGA ap BT t = + o3 v Y, ofe @ B0 SR 2

[Question ID = 53385]

4

1. [Option ID = 93529]
T

2. 3 [Option ID = 93528]

3. 0 [Option ID = 93526]
T

4. % [Option ID = 93527]

Correct Answer :-

A

. [Option ID = 93529]

45) A correct statement would be

T Tl HYA g
[Question ID = 6373]

1. all rectangles are squares / Tt e arf % [Option ID = 25484]

2. all parallelograms are rectangles / Hlﬂwm%@ﬁﬁ AHIAd % [Option ID = 25486]

3. all squares are not parallelograms / §+t a7 THMIR TGS Tt § [Option ID = 25485]
4. all squares are rectangles / it o S & [Option ID = 25483]

Correct Answer :-
« all squares are rectangles / uft ot e & [Option ID = 25483]

46) Members of phycomycetes are found in
i. aquatic habitats
ii. on decaying wood
iii. moist and damp places
iv. as obligate parasites on plants
Choose from the following options
& WGw U 91 §
i, ST Smary o
iil. FSI-TTel APS W



jii. qwaznen';wﬁrw

[Question ID = 6421]

1. (i), (iv) [Option ID = 25676]

2. (i), (i), (iii), (iv) [Option ID = 25678]
3. (i), (ii) [Option ID = 25675]

4. (ii, (iii) [Option ID = 25677]

Correct Answer :-
(i), (ii), (iii), (iv) [Option ID = 25678]

47) ‘Disguised unemployment’ refers to
U5 IR F et & [Question ID = 6471]

1. more persons employed for a job which a few can accomplish / T SR o %3 AfGqal B ASHR 1 oY DS g an R DR Tqohd % [Option ID = 25876]
2. persons with no jobs / fom Tl AR & =afda [Option ID = 25875]

3. unemployment among women / Afgamsif & s SRISATRY [Option ID = 25877]

4. unemployment of people above 60 years of age / 6 I ¥ 3ifdie fdaal Bt SRIWWIRT [Option ID = 25878]

Correct Answer :-

« more persons employed for a job which a few can accomplish / T IR & ﬁ Gl P ISR ST S DS g & YR HY Thd § [Option ID =
25876]

48) The correct statement from the following will be

frrafefaa # & W Y9 817 [Question ID = 6413]

1. Natural gas can't be used for power generation. / chpl?lcb g BT ITAT ﬁ'ngIH e ¥ forg =16t faman s Hehdl| [Option ID = 25646]

2. Natural gas is stored under high pressure as compressed natural gas. / WIdTa® 19 &1 TUfSd Wpfas 19 & T H i g1e W HsTRd foar o g
[Option ID = 25645]

3. It is difficult to transport natural gas through pipes. / WTefad 1 @1 URkag Urgal §RT &1 Hfd 8| [Option ID = 25643]

4. The disadvantages of natural gas is that it can’t be used directly for burning in homes. / EI@T%W 9 3! HH qg TP RATaN S fore saeT Her IugmT
T8 @R F&Hd| [Option ID = 25644]

Correct Answer :-

« Natural gas is stored under high pressure as compressed natural gas. / UTBfae T & YHfsd Mpfas 19 & =0 § 3ifie g R Heia far S ]
[Option ID = 25645]

49) An event where many people work together to develop new software products in a short time is

TP BTUPHH TG P3 AN HH THT H TC AIeadaR SdTe! B fIeiia @1 & e fraes ® 334 €, 98 & [Question ID = 6379]

1. hackathon / T4 [Option ID = 25507]
2. decathon / ST [Option ID = 25508]
3. amazon / TaeH [Option ID = 25510]

4. marathon / RTYA [Option ID = 25509]

Correct Answer :-
« hackathon / 814 [Option ID = 25507]

50) If £ (x) =2 thtnf(x)+%is equal to

aRfE) =23 = Eﬁ'f(x)+% refafed § & o aoag g
x {x)

3

[Question ID = 53378]

X [Option ID = 93498]

2. 0 [Option ID = 93500]
a1
3. “x* [Option ID = 93499]

4. 1 [Option ID = 93501]

Correct Answer :-

51) A metre scale is moving with uniform velocity. This implies

PIS Wiew Ta TP TA AT A Mo 21 591 34 8 75 [Question ID = 6411]



1. the force acting on the scale is zero and the torque acting about centre of mass of the scale is also zero. / A W T a1 §d T GRHAT A g 3R W
% SO %% P URd: Brd B ara g 3meul o T 81 [Option ID = 25636]

2. the force acting on the scale is zero, but a torque about the centre of mass can act on the scale. / Wrd TR T 1A §¢ BT TR Y ¥ TR Wdl W
SIAE $5 b URG: DTS I0- A0 BTY B JobdT &1 [Option ID = 25635]

3. the total force acting on it need not be zero but the torque on it is zero. / 39 TR T 1A $o I Y BHT HAIH el § T I9 W B FHR arall 9a-
31l 3T 31 [Option ID = 25637]

4. neither the force nor the torque need to be zero. / W R B B a7 @ 96 AR T g a &HQ'\UTW R BT 3fTawadh %I [Option ID = 25638]

Correct Answer :-
« the force acting on the scale is zero and the torque acting about centre of mass of the scale is also zero. / ¥ TR T dTA TG BT YR YT § 3R
Tq b GOHM g% P URG: B B arel I AT+ YT B 1 [Option ID = 25636]

52) ‘Mein Hijra, Mein Laxmi’ (Me Hijra, Me Laxmi) has been written by

& feret, & @erlt’ %1 foram 8 [Question ID = 6382]

1. T. Laxmi Nathan / €. @&} 9149 7 [Option ID = 25520]

2. Laxmi Kant Tiwari / A& &1 fdaRT = [Option ID = 25521]

3. Laxmi Shankar Trivedi / @& RidR a3 [Option ID = 25519]

4. Laxmi Narayan Tripathi / et IR Furdt 7 [Option ID = 25522]

Correct Answer :-
« Laxmi Narayan Tripathi / @&t TRTGUr fUrdt 3 [Option ID = 25522]

53) A is sister of B. C is father of D. A is daughter of E who is married to C. D is brother of B. How is B related to C?
A, BEITEA 81 C, D & AT §1 A, E 1 Tt § SR ¢ § 1l #5181 D, B &1 TS 81 B, C A {5 UPR Tafia 82 [Question ID = 6365]

1. Data inadequate / @ 3{UTT [Option ID = 25451]
2. Son or Daughter / 4= ’CITQFﬁ [Option ID = 25454]

3. Son / G [Option ID = 25453]

4. Daughter / Tt [Option ID = 25452]

Correct Answer :-
» Son or Daughter / 9 91 13,3]:’[ [Option ID = 25454]

54) Read the statement given below.

i. Seeds require moisture for germination.

ii. Plants can absorb nutrients mostly in dissolved form.

iii. Irrigation protects crops from both frost and hot air currents.

iv. Irrigation improves soil texture.

Choose the combination of statements which indicate the need to irrigate crops.
e Ry e sy P ue |

i. S5 B P01 & forg it Y srazTHar gt g1

ii. T waTeR fafed ¥ u & Wive q@l & Saxifd $3 9ad 71

iii. Ri=rE 91 $ v T ga1 YRS A B! B V& Har B

iv. s g 91 aerae § guR s 21

FHYT S TYG! T 999 DY ol BOa! B AT B B STagehdl B SR Fa § |

[Question ID = 6429]

1. (i), (ii), (iii), (iv) [Option ID = 25709]
2. (i), (i), (iii) [Option ID = 25708]

3. (i), (iii) [Option ID = 25710]

4. (i), (ii) [Option ID = 25707]

Correct Answer :-
« (i), (ii) [Option ID = 25707]

55) A sphere, a cube and a thin circular plate, all of same material and same mass are initially heated to same high temperature. In this
situation

U S 94T FAH Yerd & 99 U Md, TP 999 U9 TP guIPR We &) U S A1 a9 RY & a5 frar 11 § | 59 uRFRRAM A [Question ID
= 6412]

1. sphere will cool fastest and cube the slowest. / Tiell T 31 dadl § 3R o7 Jo ¢ &1 BT [Option ID = 25640]
2. plate will cool fastest and sphere the slowest. / e I i dfigar ¥ iR Men god iR S8 [Option ID = 25639]
3. plate will cool fastest and cube the slowest. / @i Jo 31 digar ¥ 3R o= Fad X 381 SN [Option ID = 25641]

4. cube will cool fastest and plate the slowest. / 9 T 31t i § ok Wi T ¢k $<t giht [Option ID = 25642]

Correct Answer :-

« plate will cool fastest and sphere the slowest. / @ T 3iferep daar ¥ 3R el Ja& X ST NI [Option ID = 25639]



56) The author of ‘Joothan- An Untouchable’s Life’ is
"B - U &ford BT sia' & dWP § [Question ID = 6383]

1. Bhimrao Ramji Ambedkar / +TRTd ST SFASHR [Option ID = 25526]
2. Jyotirao Govindrao Phule / SfeRTa MfdeRTd Ha [Option ID = 25523]
3. Chandra Bhan Prasad / 9% YT UdIq [Option ID = 25525]

4. Omprakash Valmiki / STAYGTR aTeHifes [Option ID = 25524]

Correct Answer :-
« Omprakash Valmiki / 3TUETRT AT [Option ID = 25524]

57) LetR be a relation on the set N of natural numbers defined by nRm if n divides m. Then R is

o e % R wigpa Sensit & =a N § te T §, St nRm afe n i &=a1 @ m &), grroRuifda 8, @R
[Question ID = 6371]

1. reflexive, transitive but not symmetric / Tded, TshTH® § U THIHA -Te! & [Option ID = 25478]
2. reflexive and symmetric / ¥aded Td i % [Option ID = 25475]

3. transitive and symmetric / TehTH® T JHMAT 8 [Option ID = 25476]

4. equivalence / WW% [Option ID = 25477]

Correct Answer :-
« reflexive, transitive but not symmetric / Taded, TehTH® § U THT T8l § [Option ID = 25478]

58) Let n (A) = m, and n (B) = n, then the total number of non-empty relations that can be defined from A to B is

U AR fF n(A)= m 3R n(B)= n, a1 A A B & uRyIRT T o 9 ara sivea Tdel &t oa wen g
[Question ID = 6368]

1. mn — 1 [Option ID = 25465]
2. m" - 1 [Option ID = 25463]
3. n™ -1 [Option ID = 25464]
4, 2MN — 1 [Option ID = 25466]

Correct Answer :-
e 2MN _ 1 [Option ID = 25466]

59) The Oxford Dictionary’s ‘word of the year 2017’ is
AHTRTBIS 13y 2017 ST g’ TET [Question ID = 6380]

1. newsjacking / <gSIfdsTT [Option ID = 25511]
2. youthquake / Y& [Option ID = 25512]

3. trump / ¢H [Option ID = 25514]

4. broflake / ST [Option ID = 25513]

Correct Answer :-
« youthquake / T [Option ID = 25512]

60) Blood calcium level is a resultant of how much dietary calcium is absorbed, how much calcium is lost in the urine, how much bone
dissolves releasing calcium into the blood and how much calcium from blood enters the tissues. A number of factors play important role in
these processes. Mark the one which has no role.

TR ® SRR HIRTaH TR 39 919 $1 Giae (ukomT) 8 fF merR | ure g1 aran feaqn ey sa=iid gan €, e Sferaw 1 gr1 e T
g, fpat aifRy gare? SRR & Saaw &1 Wi el @ iR IRR A fraan Smy SHaw! ¥ vz w1 81 39 uiparei ¥ o5 R o= Agayul
YT 3reT Hd & | 39 foran & a8 R et #18 yfrer 8, ag

[Question ID = 6423]

1. Vitamin D / fae1f &} [Option ID = 25683]

2. Parathyroid hormone / URTdg (aﬂ'qlsils\'S) gRHI [Option ID = 25684]
3. Thymosin / YTSHIR [Option ID = 25686]

4. Thyrocalcitonin / 4TSRY SHIRTSI [Option ID = 25685]

Correct Answer :-
« Thymosin / YTEHIRIA [Option ID = 25686]

61) Theset(AUBUC)N(ANB’NC’) NCis equal to
W(AUBUC)n(AnB’nC’)’nC’W%



[Question ID = 6367]

1. B U C’ [Option ID = 25461]
2. BN C’ [Option ID = 25462]
3. AN C [Option ID = 25460]
4. AN C [Option ID = 25459]

Correct Answer :-
« BN C' [Option ID = 25462]

62) The statements which are true on the way children were taught in the ‘pathshalas’ in the pre-British India are
i. classes were not held during harvest time when rural children often worked in the fields

ii. children sat on fixed seats

iii. the State took the responsibility of organizing all formal schooling

iv. fee depended on the income of the parents: the rich had to pay more than the poor

qd-fafewr yra ® ureznersi # g B e TR T S F IR A A FUTIAE, I8
i.5Od Fels & THY HETE raifera T8t &1 wrdt ff iq arfior 9= SR @l S aea A
i. 7= fAifYg W wdsd &

iii. 35 3 it ST el Rien #Y WU B 9t Rrder &

iv. Yo ATAT-faT 3t oma wR R Fear ot : iRy @Y Tl | SR Y B usar o

[Question ID = 6385]

1. (iii) ,(iv) [Option ID = 25531]
2. (i), (ii) ,(iv) [Option ID = 25533]
3. (i) , (iii) [Option ID = 25532]
4. (i), (iv) [Option ID = 25534]

Correct Answer :-
o (i), (ii) ,(iv) [Option ID = 25533]

63) The statements which are true for the ‘Swachh Vidyalaya’ initiative are

i. to ensure that all government schools in India have separate functioning toilets for boys and girls.

ii. the use of improved sanitary facilities decreases the incidences of gastrointestinal ilinesses in children and reduces absenteeism.
iii. to engage with manual scavenging to clean toilets efficiently.

iv. to promote behaviour changes such as hand washing, using and maintaining toilet.

oS faemer vga F R AN sy aa E, 9§

i. 78 AT 1 5 URa & T e Tl | aso! ok asfeal & g srem-sren arg xitaTerd €1

ii. Sear gRaursit w1 STt faemeg | gt # sy dadh Safay aur sgufRufa @t e ot v a1
iii. AATAAT B HRIAAGAD TP HA S ¢ Bl 1 Bt 7T F 1Y T gl

iv. JNTTET FT ITANT, TERWTG 3R F1Y 419 A ggaral o1 AqgR & a9 & e weafgd s

[Question ID = 6395]

1. (i), (i), (iii) [Option ID = 25571]
2. (i), (ii), (iv) [Option ID = 25573]
3. (i), (iii), (iv) [Option ID = 25574]
4. (ii), (iii), (iv) [Option ID = 25572]

Correct Answer :-
o (i), (ii), (iv) [Option ID = 25573]

64) The ‘ektara’, which is a rhythmic folk instrument with a stretched single string, is also known as

‘THART/ ‘SHART Sl T TUax P 47 ¢, o ue 7 Topd a8l 8, D 39 17 A} s wiman @
[Question ID = 6378]

1. Gopichand / TTidTEig [Option ID = 25504]

2. Sai Praneeth / 9TE yufid [Option ID = 25503]

3. Prannoy / TOTT [Option ID = 25506]

4. Srikanth Kidambi / Si&id fddet [Option ID = 25505]

Correct Answer :-
« Gopichand / TdEg [Option ID = 25504]

65) The players who have won twenty or more Grand Slam titles are

9 71 3T wTeT A W Raare sieq ara f@erst §



[Question ID = 6381]

1. Margaret Court, Serena Williams, Steffi Graf and Roger Federer / ATRE BI¢, YT fAferawy, Rw! UMt qT IS5k SR [Option ID = 25518]

2. Pete Sampras, Venus Williams, Roger Federer and Serena Williams / Yie 9, 419 faferny, IfoR BhexR 9yl W1 faferawa [Option ID = 25516]
3. Roger Federer, Serena Williams, Novak Djokovic and Rafael Nadal / AR W, @Wﬁ%ﬂ'ﬂ&, AaIE ST quT Ihd TSI [Option ID = 25517]
4. Rafael Nadal, Serena Williams, Roger Federer and Steffi GrafRTﬁWI q8I1d, AT ﬁﬁ“ﬂ:ﬂ?{, IR HER U1 KRBT Uh [Option ID = 25515]

Correct Answer :-
« Margaret Court, Serena Williams, Steffi Graf and Roger Federer / AFRE 1<, IAT faferamy, R} UMb quT 5K HSW [Option ID = 25518]

66) The sobriquet ‘City of lakes’ is given to
i. Srinagar
ii. Udaipur
iii. Bhopal
iv. Kohima

o =g ®1 sl &1 2ev ST RRar AT g, 9 ¥
;i.aaag?
jiii. HaT

iv. Hﬁﬁ'ﬂT
[Question ID = 6403]

1. (i), (ii), (iii) [Option ID = 25605]
2. (i), (ii), (iv) [Option ID = 25603]
3. (i), (iii), (iv) [Option ID = 25606]
4. (ii), (iii), (iv) [Option ID = 25604]

Correct Answer :-
o (i), (ii), (iii) [Option ID = 25605]

67) The village development program 'Operation Flood' focuses on
TR TeTe” THS I A

[Question ID = 6392]

1. Flood control, so that damage of public property could be reduced. / STg Tz W, dTfe T Tufy F & BT HH fobar o1 T | [Option ID = 25559]

2. Poultry farming, in order to create employment opportunities for the rural people, to increase their income and to eliminate poverty. / $ddb< Uldd W,
s ARFOT QT Y ASHIR & SAwR I B, ST He-! 9 U7 TRist gR 8l| [Option ID = 25560]

3. Bee keeping, in order to create employment opportunities for the rural people, to increase their income and to eliminate poverty. / ngna@“r T R, GIIED
ITior RN BT ISR & SR YT &Y, 3! TG §¢ aul TRl g% 8 [Option ID = 25562]

4. Dairy work, as a medium of development in order to create employment opportunities for the rural people, to increase their income and to eliminate

poverty. / ST e W, s T AT BT ASHIR & TR U g, ST SHTHG d¢ 74T TRIaT gR 81| [Option ID = 25561]

Correct Answer :-
« Dairy work, as a medium of development in order to create employment opportunities for the rural people, to increase their income and to eliminate

poverty. / SR IdTeH WR, AP UFHIOT THT BT ISR & S(T¥R I &, ITb! ST §¢ TUT TIa R 81| [Option ID = 25561]

68) The following statements true in the context of equality and social justice in educational institutions are

i. equality and social justice are values that we have to keep striving for and not something which will happen automatically.
ii. people’s struggles, advocacy and positive actions by the government are necessary to make this a reality for all India.

iii. eatblishment of equality is possible only through the efforts of Non-Government Organizations.

Qerfore TR & JuTar 3R qrATere = & el ¥ o U §

i. UTET 3R WIS U Yed €, 8 U B & oY qad vy 61 vsdT § 3R 91 $9 81 S Wd: ghh |
ii. Ul YR ¥ T 39 IRafa®ar H ¥ 1T S-RiY, Ue-T0dF 941 WPR & THRIAS Y&l ATaRTS 8 |

iii. THTAT P RITGT FId - THRY WS & TR A § TUg B

[Question ID = 6396]
1. (i), (ii), (iii) [Option ID = 25578]
2. (i), (iii) [Option ID = 25577]

3. (i), (ii) [Option ID = 25576]
4. (ii), (iii) [Option ID = 25575]

Correct Answer :-
« (i), (ii) [Option ID = 25576]



69) A cell will swell up if
T PIRDT o ST, Al

[Question ID = 6426]

1. Concentration of water molecules does not matter / Sd 3 3{U[3ff Bt Wigdl Hew el I@al| [Option ID = 25698]

2. The concentration of water molecules is same in the cell and in the surrounding medium / HIRTHT & iR TUT ISP X & ot B UL BT Aigal TAH
81| [Option ID = 25697]

3. The concentration of water molecules in the cell is higher than the concentration of water molecules in surrounding medium / PIBT F HidR 5d &
UL B WG ITP AER IR SR JUTYA A F SHLST BT Wil F 348 §| [Option ID = 25695]

4. The concentration of water molecules in surrounding medium is higher than water molecules concentration in the cell / ®IRIHT & FTEX TRT 3R U
T & ULt BT g w1 & HieR oI & SU[sT B Figar ¥ $fUF BI| [Option ID = 25696]

Correct Answer :-
« The concentration of water molecules in surrounding medium is higher than water molecules concentration in the cell / PIRAPT F TR TRY 3R

IUTRA ST F 3U3n Bl Figell BIRebT F HieR STl & 3rujsii Bt Fieel A 31 Y| [Option ID = 25696]

Topic:- DU_J18_Bed_Topic05

1) T Hel Wl @ 7 et 7 fPY oM & SR g=if A UgTE & ufa sragt 81 Sl @ 3R 3 v o311 18 34 €1 gOvT 48 b ora +18 fremedf sl wean
P qTal BT T FEHT RTeRt HeT & Ugaar g df IY 3Tl a1 B [Ivuasg THgE  Hf5ArE gt 21 3ra: S IW Fan # Ve @ g g1 Ifee
3 31 gefiel BT UHerur Ha 81 a1 Uhte 3R d g 9 BT % aRad | Tl & g IR T Wi 591 Fhal 82 UTs & Ufd 451 a1 3571 fawgawg &t
Jremar auT Rigr fafy w fnft @9t wifge, 1 7% falt qus & 8 W | 5% g5 W WieR o1 g 7% @t 9= 2R fawg o wam v @ a8t
TN | 5 SR YTodshd § fafaear 3 agemariiar &) wewd 81 UeAT-foran, aifdhe Wi, ATire TudaT 3iv T, giaruraty qur Wedary

S 79 g Aeifdre ITET B gR e ¥ R Y v & a1 R fen ¥ arae 3R @, 3% wreaw 9 98 3 91d WIE IF | S gW eI 9red
g, 98 7= ¥ 1T A9® 7 |, 1 g9 et adid A Ryar 7 urd, oY 39 < fhaeT @2 . ug faendf &1 v § a1 i 99 fawn &1 §, a1 39 R s s
Reifores sgawt &1 82 378 A 50 52 b 77 9= a9 Waa § o9 378 39 Rwgasg & uf $15 s 9 ok 39 W & g ftg 351 9 S™me
SN g 9 3 A ST, Wigfed garEn ar fihR ¢ Hiegd WiF 3ERETd ST W € | 71 39 a8 31 318 Bd 81 & 83 ¥ S g 0l 82

AP F TR T= & UTeuwHd § frd el B} rawaenar 82
[Question ID = 20004]

1. SGSHTATIAGT & [Option ID = 50010]

2. 3y a5 B [Option ID = 50008]

3. fafaerar ®1 [Option ID = 50009]

4, TafaedT T IgSmAfiar GF1 &T [Option ID = 50011]

Correct Answer :-

. fafaerar ud agsmaiar F1 &1 [Option ID = 50011]

2) g8 Fel aT ¢ f ba 7 fPT oM & SR 9= ¥ Uers & i 31T 8 9Tl 2 3R 3 W $1 Bis & &1 g Ug b 5w 1S faeneff o wen
FI 976l B 7 WGBR AT BT F Ugaar & df S SATeht Fam B fyvgaRg TuzA & SIS et ¥1 3ra: 39 M wa F Apd K@M Igar 81 9feg
g 31 gefial BT TNeI0r I &1 Fa1 Uie 3R e 81 o1 P71 % a1ad | T=di & o7 IR &1 Wi 91 9l 82 UeTs & Uid 45T a1 357 fAwgawg &t
Jrapar adT Rigror faft = fafk g afde, = fr [l qus & v R | 3 g ot WierR $A1 8 7 3l 9= &7 v & wue = u @ WRear 98t
TN | 3 SR YToushd | fafaear sk agemarfiar ) wewa 81 ve-fora=n, a1fde i, amamiig aur-dar siv =umg, uaiaroraty qur Wty

T o g Reifdre SERal #) R [ & R 9 weva @ a1 R faur & a1ae R Q, S a1wg @ 95 3 a1d W 9 | < g9 ueE ggd
g, 98 T & RIu e 7 8, 71 9 I TP | Rr@r 7 uig, @ 39 3y [per &2 s ue fandf e v g w fr su fRur o1 8, w1 9 e srarsw
QeifOre a1 $T 8?2 399 I g4 54 Bad A1? T= a9 Wrad § o9 38 39 favgawg & ufd #1E meur 79 3R 39 WiwH & e dta 3=51 9 S8
SI[E 8 9 3 A g1, Wgfha garn a1 fhR Y Hiegd B ST $1 S € | 7 39 98 $1 SIS d g1 & 8% S g 9l 82

IR T | ‘Gelter Xreg T yaNT fovar T @
[Question ID = 20002]

1. gaTE & w<H H [Option ID = 50002]
2. d% & T T [Option ID = 50003]
3. 7% & g<af # [Option ID = 50000]

4, 1R & T} ® [Option ID = 50001]

Correct Answer :-
« I & T & [Option ID = 50003]

3) 9% FgT 9T ¢ % B 7 fry 911 & SR o=t § ugrs & wid sreres 8 St @ 3R A TR RT3 3 81 g Ug 1 w9 o1 faendf et wan
P g1l BT 7T FEHT FTeht Hem & ugTar g dY X ATl FHam i fyvgavg aug # Hfears git 31 sra: 39 W wen # Ave Rar dgar 81 3fg
3 31 gefiel BT UHefur Ha &1 a1 UteT R T 8 9 BT % dRad | J=dl & g IR &1 Wi 51 FHdl 82 UeTs & Ufd 451 a1 3571 fawgawg &t



Jraspdr adT Rigor faft w fAadk g fg, 9 for el v & 57 R | g g ot Wer &A1 8 7% 3t 9= &7 fawa & wue = u ) SRear 98
TN | 3H SR YToushd | fafaear 3iv agemariiar &1 aewd 81 UeT-forar, aifdhe |, ATiie Tu=daT 3R -uTg, giaruraty qur dadary

S $O g Reifdres ILal i gR e F R Y vewa & a1 R faen ¥ arae 3R @, 39% Ureaw 9 98 3 914 Wie IF | S g3 Ul 9red
g, 98 T2 & R e 7 8, 71 0 I P A Rr@r 7 i, @t s Sy e s A ae R e dw g wfr Sa fRur w1 8, wrsu e srarsw
QeffOrr AT T 82 390 W 8 5 B W2 7= a9 WEd & o 379 I fAvgasg & ufd #I rryur 99 3R 3@ Wwq & fore <fta 3w1 9 3«me
W[ 81 9 3 A I, WgfPd A a1 bR Y Wiergd BiF SHd B WA 8 | T 39 98 BT STE bd 811 & S § I 8 9Pdl 82

IR iR § ORI <reg | aread @
[Question ID = 20005]

1. M [Option ID = 50013]
2. BicAT [Option ID = 50012]
3. T8 [Option ID = 50015]
4. SII&T [Option ID = 50014]

Correct Answer :-
. SrEA [Option ID = 50014]

4) Ug BT 91T @ I Bat 7 fry oM & SR a= & uers & ufa srgr 8 et @ 3R F vy A1 Bt 3 ¥ | gOvT U e a1 femdf Ao wan
P 1l B T HEHY AT BT A ugTar g df S SnTell Ham FI fAvgavg gHem ¥ oA 1A 71 o 39 S Fan ¥ Abwe Rrarn dgar 71 3fig
31 &) aeftall BT Tdiaror B &1 FT TET R et 8 S BT S aRed | Tl & 1o1g UM BT Fid 7 Tebell 32 USTS & Ul 37 U1 3507 faugawg $t
Jrapar adT Rigor faft = fafk g afde, 9 f [l qus & 53 R | 3@ gs ot Wier o1 8 6 @l 9= &7 v & wue wu S WRear T8t
TR | §H BRI UTSUHH § fAfdear i agemafirar 3 e 81 eT-Ram, a1 Wi, Qrniie THHET 3R Ty, wafarvmeEy auT adery
S o g Aefore SERal @ & A § kA 3t vewa @ aifer R R & arae $fa @, 39% 91ead § 98 3 91 T I& | S 86 T Aargd
g, 98 9= & f1e e 71 8, a1 59 Ul adid | Rar 7 utd, o 39w G frwet 82 wun g faendf &1 v @ ar fr 39 fawn +1 ], 91 39 Rigw s1ar 3w
QeifOre SIaT $T 8?2 399 W 59 54 Bdl 71? I= a9 Wrad § o9 30 39 favgawg & ufd #1S sneur 99 3R 3X WiwH & e dia 3=51 9 S8
SRME & 9 3 & T, Wigfrd T a1 fhR AU Hiargd BiF S ST $Rad § | 1 59 a8 BT 318 $d o b S § SWd & Iddl 82

for 1 31 aral W faenffal &Y uers & wia g a1 3wt Ak ol 82
[Question ID = 20003]

1. fawa faenfifat & vafaror ¥ fpa Taifid § 3k 3% AHRI® WR & 3FER § [Option ID = 50004]

2. fovga frait I 7 SIR 3ieaTus gRI S1F-4t Reror At 1 y@h fbar ST %87 § [Option ID = 50007]
3. faenf 8k areaTues ST F ARG TR WR [Option ID = 50006]

4, 3{eOTqS P} AT 3R 3Hd TR [Option ID = 50005]

Correct Answer :-

. fawaRg frat e § SR sreamus gRT SHIF-Tt Rreror fafy %7 v {3501 51 @7 § [Option ID = 50007]

5) Ug $gT o1l & % % = fbT 911 & SR =il § ugrs & ufa 3rsig 8 oIt @ 3R A WU BT BIS Id §1 g Ug % o 31 et ot wan
P qrdl B T WEH AT BT W UgFa1 ¢ df S SATel Hef FT favaavg THgm § HfTE gl 81 3 39 ST Fer # A R dgear 81 afeg
3 31 gefiel BT Ueur Ha 81 T UhteT R d 8 9 &1 5% dRad | Tl & oY IR &1 Wi 591 Fhdl 82 UeTs & Ufd 451 a1 357 fawgawg &t
JAarepdr adT Rigor faf w ffk g =nfd, = for el e & 57 R | g gs ot Wior &1 8 % 3uft 7= &7 fawa & wue = u 9 e 98t
TN | 59 SR YToushd | fafaear 3 agemariiar &1 wewd 81 UeT-fora, aifdhe Wi, ATiie TadaT 3R a1, giaruraty qur Wedary

S $9 g Aeifdre ILal i gR e ¥ R Y v & a1 R fen § arae 3R @, 3% ureaw 9 98 3 914 WiE I | S gW eI 9red
g, 98 7= & fore ue 71 8, a1 g I 8P | R 7 uit, o 39w <y frwet 22 s g R e ar e sa fRwr w1 ], wrsw e s1ar sy
Qe a1 31 8?2 38 A 549 f5A Bad u? 7= a9 Wrad € o9 378 39 favgawg & ufa #1S snedur a9 3R 37 Wiwm & fg fta 3w1 9 Sme
SINE g 9 3 A I, WIgfed garn a1 fihR AT Hiegd Wi 3T $IAT W € | 71 39 a8 BT 318 Bd o1 & 83 ¥ S g 9l 82

= a9 IR F ufy arefifa dar @ o«
[Question ID = 20006]

1. 39 fywaRg & ufd IS SN0 a9 [Option ID = 50016]
2. $ad 331-3=ST HEIaT 8 [Option ID = 50018]
3. fawgasg # dad g o 81 [Option ID = 50017]
4, 3= o@e gRI fordl S wfaany §f [Option ID = 50019]

Correct Answer :-

« 39 favgasg & Wfd IS S1HTUT T [Option ID = 50016]

6) From time immemorial drugs have been used by humans for medical purposes. But never before had the abuse ... (A) ... narcotics
caused such unprecedented worldwide concern and posed an alarming menace to the society. According to recent World Health



Organization estimates, there are millions of ... (B) ... addicts and abusers of cocaine, opium, barbiturates, sedatives and tranquilizers all
over the world. It is now an international problem that ... (C) ... the Indian government. Recent movies like Udta Punjab have highlighted
that the consumption of drugs has affected the youth in the state of Punjab adversely. Taking a drug other than for medical reason in
amount, strength, frequency or manner that ... (D) ... the physical and mental functioning is drug abuse. Drug abuse is a painful problem
for the addict, for the family and for all those who touch their lives. It is mostly the youngsters that fall prey to drugs. At this stage, the
youngsters are especially vulnerable to pressure from friends. The future generation is virtually being crippled under the impact of drugs.
Due to intake of drugs, the person may lose will power, concentration, memory and judgement capacity. There is a need to create
awareness amongst the youth as well as work towards rehabilitation of those trapped in ...(E)... abuse.

Choose the most appropriate option for (B):-
[Question ID = 19998]

1. heroin [Option ID = 49987]
2. heroine [Option ID = 49984]
3. medicine [Option ID = 49986]
4. work [Option ID = 49985]

Correct Answer :-
« heroin [Option ID = 49987]

7) From time immemorial drugs have been used by humans for medical purposes. But never before had the abuse ... (A) ... narcotics
caused such unprecedented worldwide concern and posed an alarming menace to the society. According to recent World Health
Organization estimates, there are millions of ... (B) ... addicts and abusers of cocaine, opium, barbiturates, sedatives and tranquilizers all
over the world. It is now an international problem that ... (C) ... the Indian government. Recent movies like Udta Punjab have highlighted
that the consumption of drugs has affected the youth in the state of Punjab adversely. Taking a drug other than for medical reason in
amount, strength, frequency or manner that ... (D) ... the physical and mental functioning is drug abuse. Drug abuse is a painful problem
for the addict, for the family and for all those who touch their lives. It is mostly the youngsters that fall prey to drugs. At this stage, the
youngsters are especially vulnerable to pressure from friends. The future generation is virtually being crippled under the impact of drugs.
Due to intake of drugs, the person may lose will power, concentration, memory and judgement capacity. There is a need to create
awareness amongst the youth as well as work towards rehabilitation of those trapped in ...(E)... abuse.

Choose the most appropriate option for (D):-
[Question ID = 20000]

1. mends [Option ID = 49992]

2. damages [Option ID = 49993]
3. invigorates [Option ID = 49995]
4. augments [Option ID = 49994]

Correct Answer :-
« damages [Option ID = 49993]

8) From time immemorial drugs have been used by humans for medical purposes. But never before had the abuse ... (A) ... narcotics
caused such unprecedented worldwide concern and posed an alarming menace to the society. According to recent World Health
Organization estimates, there are millions of ... (B) ... addicts and abusers of cocaine, opium, barbiturates, sedatives and tranquilizers all
over the world. It is now an international problem that ... (C) ... the Indian government. Recent movies like Udta Punjab have highlighted
that the consumption of drugs has affected the youth in the state of Punjab adversely. Taking a drug other than for medical reason in
amount, strength, frequency or manner that ... (D) ... the physical and mental functioning is drug abuse. Drug abuse is a painful problem
for the addict, for the family and for all those who touch their lives. It is mostly the youngsters that fall prey to drugs. At this stage, the
youngsters are especially vulnerable to pressure from friends. The future generation is virtually being crippled under the impact of drugs.
Due to intake of drugs, the person may lose will power, concentration, memory and judgement capacity. There is a need to create
awareness amongst the youth as well as work towards rehabilitation of those trapped in ...(E)... abuse.

Choose the most appropriate option for (E):-
[Question ID = 20001]

1. object [Option ID = 49999]

2. environment [Option ID = 49996]
3. substance [Option ID = 49998]
4. habitat [Option ID = 49997]

Correct Answer :-
« substance [Option ID = 49998]



9) From time immemorial drugs have been used by humans for medical purposes. But never before had the abuse ... (A) ... narcotics
caused such unprecedented worldwide concern and posed an alarming menace to the society. According to recent World Health
Organization estimates, there are millions of ... (B) ... addicts and abusers of cocaine, opium, barbiturates, sedatives and tranquilizers all
over the world. It is now an international problem that ... (C) ... the Indian government. Recent movies like Udta Punjab have highlighted
that the consumption of drugs has affected the youth in the state of Punjab adversely. Taking a drug other than for medical reason in
amount, strength, frequency or manner that ... (D) ... the physical and mental functioning is drug abuse. Drug abuse is a painful problem
for the addict, for the family and for all those who touch their lives. It is mostly the youngsters that fall prey to drugs. At this stage, the
youngsters are especially vulnerable to pressure from friends. The future generation is virtually being crippled under the impact of drugs.
Due to intake of drugs, the person may lose will power, concentration, memory and judgement capacity. There is a need to create
awareness amongst the youth as well as work towards rehabilitation of those trapped in ...(E)... abuse.

Choose the most appropriate option for (C):-
[Question ID = 19999]

1. surprises [Option ID = 49991]
2. pleases [Option ID = 49988]
3. bothers [Option ID = 49989]
4. amuses [Option ID = 49990]

Correct Answer :-
» bothers [Option ID = 49989]

10) From time immemorial drugs have been used by humans for medical purposes. But never before had the abuse ... (A) ... narcotics
caused such unprecedented worldwide concern and posed an alarming menace to the society. According to recent World Health
Organization estimates, there are millions of ... (B) ... addicts and abusers of cocaine, opium, barbiturates, sedatives and tranquilizers all
over the world. It is now an international problem that ... (C) ... the Indian government. Recent movies like Udta Punjab have highlighted
that the consumption of drugs has affected the youth in the state of Punjab adversely. Taking a drug other than for medical reason in
amount, strength, frequency or manner that ... (D) ... the physical and mental functioning is drug abuse. Drug abuse is a painful problem
for the addict, for the family and for all those who touch their lives. It is mostly the youngsters that fall prey to drugs. At this stage, the
youngsters are especially vulnerable to pressure from friends. The future generation is virtually being crippled under the impact of drugs.
Due to intake of drugs, the person may lose will power, concentration, memory and judgement capacity. There is a need to create
awareness amongst the youth as well as work towards rehabilitation of those trapped in ...(E)... abuse.

Choose the most appropriate option for (A):-
[Question ID = 19997]

1. by [Option ID = 49982]

2. of [Option ID = 49980]

3. from [Option ID = 49981]

4. through [Option ID = 49983]

Correct Answer :-
« of [Option ID = 49980]

11) Once upon a time there was a bird. It was ignorant. It sang all right, but never recited
scriptures. It hopped prettv frequently, but lacked manners. Said the Raja to him self:
“Ignorance is costly at the long run. For fools consume as much food as others, and vet give
nothing in returmn ™

He called his nephews to his presence and told them that the bird must have h sound
schooling. The pundits were summoned, and at once went to the root of the matter. They
decided that the ignorance of the bird was due to their natural habit of living in poor nest.
Therefore, according to pundits, the first thing necessary for this bird’s education was a
suitable cage. The pundits had their reward and went home happilv. A golden cage was built
with gorgeous decorations. Crowds came to see it from all parts of the world. “Culture,
captured and caged”™ exclaimed some, in a rapture of ecstasy and burst into tears. Others
remarked: “even if culture be missed, the cage will remain, to the end, a substantial fact. How
fortunate for the bird ™ The goldsmith filled his bag with monev and lost no time in sailing
homewards.

The pundits sat down to educate the bird. With proper deliberation thev tock their pinch of
snuff, as one of them said: “Text-books can never be too manv for our purpose!”™ The



nephews brought together an enormous crowd of scribes. Thev copied from books, and
copied from copies, till the manuscripts were piled up to an uncatchable height. Men
murmured in amazement: “Oh, the tower of culture, egregiously high! The end of it lost in
the clouds!™ The scribes, with light hearts, hurried home, their pocket heavily laden. The
nephews were furiouslv busy keeping the cage in proper trim. As their constant scrubbing
and polishing went on, the people said with satisfaction: “This is progress indeed!™ Men were
emploved in large number, and supervisors were still more numerous. These, with their
cousins of all different degrees of distance, built a palace for themselves and lived there
happily ever after. Whatever may be its other deficiencies, the world is never in want of fault-

finders; and they went about saving that everv creature remotely connected with the cage
flourished bevond words, excepting only the bird.

When this remark reached the Raja’s ears, he summoned his nephews before him and said:
“My dear nephews, what is this that we hear?” The nephews said in answer: “Sire, let the
testimony of the goldsmiths and the pundits, the scribes and the supervisors, be taken, if the
truth is to be known. Food is scarce with the fault-finders, and that is why their tongues have
gained in sharpness.” The explanation was so luminously satisfactory that the Raja decorated
each one of his nephew with his own rare jewels.

The Raja at length being desirous of seeing with his own eves how his education department
engaged itself with the little bird, made his appearance one day at the great hall of leaming.
From the gate rose the sounds of conch-shells and gongs. homs, bugles and trumpets,
cvmbals, drums and kettle drums, tom- toms, tambourines, flute, fifes, barrel-organs and
bagpipes. The pundits began chanting mantras with their topmost voices, while the
goldsmiths, scribes, supervisors, and their numberless cousins of all different degrees of
distance, loudly raised a round of cheers.

The nephews pleased, the Raja was about to remount his elephant, when the fault- finders
from behind some bush, cried out: “Maharaja, have you seen the bird?”

[Tndeed. [ have not!” exclaimed the Raja, “T completely forgot about the bird. Tuming back,
he asked the pundits about the method they followed in instructing the birds. It was shown to
him. He was immensely impressed. The method was so stupendous that the bird looked
ridiculously unimportant in comparison. The Raja was satisfied that there was no flaw in the
arrangements. As for anv complaint from the bird itself, that simplv could not be expected. Its
throat was so completely choked with the leaves from the books that it could neither whistle
nor whisper. It sent a thrill through one’s body to watch the process.

This time, while remounting his elephant the Raja ordered his state Ear-puller to give a
thorough good pull at both the ears of the fault- finder. The bird thus crawled on, dulv and
properly, to the verge of inanity. In fact, its proper was satisfactory in the extreme.
Nevertheless, nature occasionally triumphed overt training, and when the moming light
peeped into the bird’s cage it sometimes fluttered its wings in a reprehensible manner. And,
though it is hard to believe, it pitifully packed at its bars with its feeble break “What
impertinence!” growled the Kotwal,

The blacksmith, with his forge and hammer took his place in the Raja’s Department of
Education: Oh, what resounding blows! The iron chain was soon completed, and the bird’s
wings were clipped. The Raja’s brother-inlaw looked back, and shook their heads, saving:
“This bird not onlylacks good sense, but also gratitude!™ With text-book in hand and baton in
the other, the pundits gave the poor bird what may fitlv be called lessons!

The Kotwal was honored with a title for his watchfulness, and the blacksmith for skill in
forging chains. The bird died.

(A Parrot's story by Rabindra Nath Tagore)

The Raja wanted the bird to have sound schooling because



[Question ID = 53380]

1. the bird was consuming the resources of the state but giving nothing in return. [Option ID = 93508]
2. he wanted to eventually kill the bird. [Option ID = 93509]

3. he wanted to show his gratitude towards the bird. [Option ID = 93507]

4. he wished to set before his subjects an example of love towards nature. [Option ID = 93506]

Correct Answer :-
« the bird was consuming the resources of the state but giving nothing in return. [Option ID = 93508]

12) Once upon a time there was a bird. It was ignorant. It sang all right, but never recited
scriptures. It hopped prettv frequently, but lacked manners. Said the Raja to him self:
“Ignorance is costly at the long run. For fools consume as much food as others, and vet give
nothing in retum.”

He called his nephews to his presence and told them that the bird must have h sound
schooling. The pundits were summoned, and at once went to the root of the matter. They
decided that the ignorance of the bird was due to their natural habit of living in poor nest.
Therefore, according to pundits, the first thing necessary for this bird’s education was a
suitable cage. The pundits had their reward and went home happilv. A golden cage was built
with gorgeous decorations. Crowds came to see it from all parts of the world. “Culture,
captured and caged” exclaimed some, in a rapture of ecstasy and burst into tears. Others
remarked: “even if culture be missed, the cage will remain, to the end, a substantial fact. How
fortunate for the bird ™ The goldsmith filled his bag with monev and lost no time in sailing
homewards.

The pundits sat down to educate the bird. With proper deliberation thev tock their pinch of
snuff, as one of them said: “Text-books can never be too manv for our purpose!”™ The
nephews brought together an enormous crowd of scribes. Thev copied from books, and
copied from copies, till the manuscripts were piled up to an uncatchable height. Men
munmnured in amazement: “Oh, the tower of culture, egregiously high! The end of it lost in
the clouds!™ The scribes, with light hearts, hurried home, their pocket heavily laden. The
nephews were furiously busv keeping the cage in proper trim. As their constant scrubbing
and polishing went on, the people said with satisfaction: “This is progress indeed!™ Men were
emploved in large number, and supervisors were still more numerous. These, with their
cousins of all different degrees of distance, built a palace for themselves and lived there
happilv ever after. Whatever may be its other deficiencies, the world is never in want of fault-

finders; and they went about saving that everv creature remotelv connected with the cage
flourished bevond words, excepting only the bird.

When this remark reached the Raja’s ears, he summoned his nephews before him and said:
“My dear nephews, what is this that we hear?” The nephews said in answer: “Sire, let the
testimony of the goldsmiths and the pundits, the scribes and the supervisors, be taken, if the
truthis to be known. Food is scarce with the fault-finders, and that is why their tongues have
gained in sharpness.” The explanation was so luminously satisfactory that the Raja decorated
each one of his nephew with his own rare jewels.

The Raja at length being desirous of seeing with his own eves how his education department
engaged itself with the little bird, made his appearance one day at the great hall of learning.
From the gate rose the sounds of conch-shells and gongs. homs, bugles and trumpets,
cvmbals, drums and kettle drums, tom- toms, tambourines, flute, fifes, barrel-organs and
bagpipes. The pundits began chanting mantras with their topmost voices, while the
goldsmiths, scribes, supervisors, and their numbetless cousins of all different degrees of
distance, loudly raised a round of cheers.

The nephews pleased, the Raja was about to remount his elephant, when the fault- finders
from behind some bush, cried out: “Maharaja, have you seen the bird ™™

[Indeed.l have not!” exclaimed the Raja, “I completely forgot about the bird. Tuming back,
he asked the pundits about the method they followed in instructing the birds. It was shown to
him. He was immensely impressed. The method was so stupendous that the bird looked
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TQICUIOUSLY UNIMPOITant In COMPArison. 1ne Kaja was satsiied [nat [nere was no Iaw in tne
arrangements. As for anv complaint from the bird itself, that simply could not be expected. Its
throat was so completely choked with the leaves from the books that it could neither whistle
nor whisper. It sent a thrill through one’s body to watch the process.

This time, while remounting his elephant the Raja ordered his state Ear-puller to give a
thorough good pull at both the ears of the fault- finder. The bird thus crawled on, dulv and
properly, to the verge of inanity. In fact, its proper was satisfactory in the extreme.
Nevertheless, nature occasionally triumphed overt training, and when the moming light
peeped into the bird’s cage it sometimes fluttered its wings in a reprehensible manner. And,
though it is hard to believe, it pitifully packed at its bars with its feeble break “What
impertinence!” growled the Kotwal.

The blacksmith, with his forge and hammer took his place in the Raja’s Department of
Education: Oh, what resounding blows! The iron chain was soon completed, and the bird’s
wings were clipped. The Raja’s brother-in-law looked back, and shook their heads, saving:
“This bird not onlvlacks good sense, but also gratitude!™ With text-book in hand and baton in
the other, the pundits gave the poor bird what may fitlv be called lessons!

The Kotwal was honored with a title for his watchfulness, and the blacksmith for skill in
forging chains. The bird died.

(A Parrot's story by Rabindra Nath Tagore)

The tower of culture’ symbolizes
[Question ID = 19993]

1. money [Option ID = 49966]

2. raja [Option ID = 49964]

3. manuscripts [Option ID = 49967]
4. cage [Option ID = 49965]

Correct Answer :-
« manuscripts [Option ID = 49967]

13) Once upon a time there was a bird. It was ignorant. It sang all right, but never recited
scriptures. It hopped pretty frequently, but lacked manners. Said the Raja to him self:
“Ignorance is costly at the long run_ For fools consume as much food as others, and vet give
nothing in retum.”

He called his nephews to his presence and told them that the bird must have h sound
schooling. The pundits were summoned, and at once went to the root of the matter. They
decided that the ignorance of the bird was due to their natural habit of living in poor nest.
Therefore, according to pundits, the first thing necessary for this bird’s education was a
suitable cage. The pundits had their reward and went home happilyv. A golden cage was built
with gorgeous decorations. Crowds came to see it from all parts of the world. “Culture,
captured and caged” exclaimed some, in a rapture of ecstasy and burst into tears. Others
remarked: “even if culture be missed, the cage will remain, to the end, a substantial fact. How
fortunate for the bird.”™ The goldsmith filled his bag with monev and lost no time in sailing
homewards.

The pundits sat down to educate the bird. With proper deliberation thev took their pinch of
snuff, as one of them said: “Text-books can never be too manv for our purpose!”™ The
nephews brought together an enormous crowd of scribes. They copied from books, and
copied from copies, till the manuscripts were piled up to an uncatchable height. Men
munnured in amazement: “Oh, the tower of culture, egregiously high! The end of it lost in
the clouds!™ The scribes, with light hearts, hurried home, their pocket heavily laden. The
nephews were furiously busv keeping the cage in proper trim. As their constant scrubbing
and polishing went on, the people said with satisfaction: “This is progress indeed!™ Men were
emploved in large number, and supervisors were still more numerous. These, with their
cousins of all different degrees of distance, built a palace for themselves and lived there



happilv ever after. Whatever may be its other deficiencies, the world is never in want of fault-

finders; and they went about saving that everv creature remotelv connected with the cage
flourished bevond words, excepting only the bird.

When this remark reached the Raja’s ears, he summeoned his nephews before him and said:
“My dear nephews, what is this that we hear?” The nephews said in answer: “Sire, let the
testimony of the goldsmiths and the pundits, the scribes and the supervisors, be taken, if the
truth is to be known. Food is scarce with the fault-finders, and that is why their tongues have
gained in sharpness.” The explanation was so luminously satisfactory that the Raja decorated
each one of his nephew with his own rare jewels.

The Raja at length being desirous of seeing with his own eves how his education department
engaged itself with the little bird, made his appearance one day at the great hall of learning.
From the gate rose the sounds of conch-shells and gongs. homs, bugles and trumpets,
cvmbals, drums and kettle drums, tom- toms, tambourines, flute, fifes, barrel-organs and
bagpipes. The pundits began chanting mantras with their topmost voices, while the
goldsmiths, scribes, supervisors, and their numbetless cousins of all different degrees of
distance, loudly raised a round of cheers.

The nephews pleased, the Raja was about to remount his elephant, when the fault- finders
from behind some bush, cried out: “Maharaja, have you seen the bird ™

[Indeed.l have not!” exclaimed the Raja, “T completely forgot about the bird. Tuming back,
he asked the pundits about the method they followed in instructing the birds. It was shown to
him. He was immensely impressed. The method was so stupendous that the bird looked
ridiculously unimportant in comparison. The Raja was satisfied that there was no flaw in the
arrangements. As for anv complaint from the bird itself, that simply could not be expected. Its
throat was so completely choked with the leaves from the books that it could neither whistle
nor whisper. It sent a thrill through one’s body to watch the process.

This time, while remounting his elephant the Raja ordered his state Ear-puller to give a
thorough good pull at both the ears of the fault- finder. The bird thus crawled on, dulv and
propetly, to the verge of inanitv. In fact, its proper was satisfactory in the extreme.
Nevertheless, nature occasionally triumphed overt training, and when the moming light
peeped into the bird’s cage it sometimes fluttered its wings in a reprehensible manner. And,
though it is hard to believe, it pitifully packed at its bars with its feeble break “What
impertinence!™ growled the Kotwal_

The blacksmith, with his forge and hammer took his place in the Raja’s Department of
Education: Oh, what resounding blows! The iron chain was soon completed, and the bird’s
wings were clipped. The Raja’s brother-in-law looked back, and shook their heads, saving:
“This bird not onlylacks good sense, but also gratitude!”™ With text-book in hand and baton in
the other, the pundits gave the poor bird what may fitlv be called lessons!

The Kotwal was honored with a title for his watchfulness, and the blacksmith for skill in
forging chains. The bird died.

(A Parrot's story by Rabindra Nath Tagore)

The word ‘impertinence’ refers to
[Question ID = 19994]

1. disrespect [Option ID = 49970]
2. stupid [Option ID = 49969]
3. loyalty [Option ID = 49968]
4. civility [Option ID = 49971]

Correct Answer :-
« disrespect [Option ID = 49970]



14) Once upon a time there was a bird. It was ignorant. It sang all right, but never recited
scriptures. It hopped prettv frequently, but lacked manners. Said the Raja to him self:
“Ignorance is costly at the long run. For fools consume as much food as others, and vet give
nothing in retum.”

He called his nephews to his presence and told them that the bird must have h sound
schooling. The pundits were summoned, and at once went to the root of the matter. They
decided that the ignorance of the bird was due to their natural habit of living in poor nest.
Therefore, according to pundits, the first thing necessary for this bird’s education was a
suitable cage. The pundits had their reward and went home happilyv. A golden cage was built
with gorgeous decorations. Crowds came to see it from all parts of the world. “Culture,
captured and caged” exclaimed some, in a rapture of ecstasy and burst into tears. Others
remarked: “even if culture be missed, the cage will remain, to the end, a substantial fact. How
fortunate for the bird.”™ The goldsmith filled his bag with monev and lost no time in sailing
homewards.

The pundits sat down to educate the bird. With proper deliberation thev tock their pinch of
snuff, as one of them said: “Text-books can never be too manv for our purpose!”™ The
nephews brought together an enormous crowd of scribes. They copied from books, and
copied from copies, till the manuscripts were piled up to an uncatchable height. Men
munnured in amazement: “Oh, the tower of culture, egregiously high! The end of it lost in
the clouds!™ The scribes, with light hearts, hurried home, their pocket heavily laden. The
nephews were furiously busv keeping the cage in proper trim. As their constant scrubbing
and polishing went on, the people said with satisfaction: “This is progress indeed!™ Men were
emploved in large number, and supervisors were still more numerous. These, with their
cousins of all different degrees of distance, built a palace for themselves and lived there
happilv ever after. Whatever may be its other deficiencies, the world is never in want of fault-

finders; and they went about saving that everv creature remotelv connected with the cage
flourished bevond words, excepting only the bird.

When this remark reached the Raja’s ears, he summoned his nephews before him and said:
“My dear nephews, what is this that we hear?” The nephews said in answer: “Sire, let the
testimony of the goldsmiths and the pundits, the scribes and the supervisors, be taken, if the
truthis to be known. Food is scarce with the fault-finders, and that is why their tongues have
gained in sharpness.” The explanation was so luminously satisfactory that the Raja decorated
each one of his nephew with his own rare jewels.

The Raja at length being desirous of seeing with his own eves how his education department
engaged itself with the little bird, made his appearance one dayv at the great hall of leaming.
From the gate rose the sounds of conch-shells and gongs, homs, bugles and trumpets,
cvmbals, drums and kettle drums, tom- toms, tambourines, flute, fifes, barrel-organs and
bagpipes. The pundits began chanting mantras with their topmost voices, while the
goldsmiths, scribes, supervisors, and their numberless cousins of all different degrees of
distance, loudly raised a round of cheers.

The nephews pleased, the Raja was about to remount his elephant, when the fault- finders
from behind some bush, cried out: “Maharaja, have vou seen the bird 7"

[Indeed.I have not!” exclaimed the Raja, “T completely forgot about the bird. Tumning back,
he asked the pundits about the method thev followed in instructing the birds. It was shown to
him. He was immensely impressed. The method was so stupendous that the bird looked
ridiculously unimportant in comparison. The Raja was satisfied that there was no flaw in the
arrangements. As for any complaint from the bird itself, that simplv could not be expected. Its
throat was so completely choked with the leaves from the books that it could neither whistle
nor whisper. It sent a thrill through one’s body to watch the process.

This time, while remounting his elephant the Raja ordered his state Ear-puller to give a
thorough good pull at both the ears of the fault- finder. The bird thus crawled on, dulv and
propetly, to the verge of inanitv. In fact, its proper was satisfactory in the extreme.
Nevertheless, nature occasionally triumphed overt training. and when the moming light



peeped mto the bird's cage 1t sometimes tluttered 1ts wings in a reprehensible manner. And,
though it is hard to believe, it pitifully packed at its bars with its feeble break “What
impertinence!™ growled the Kotwal_

The blacksmith, with his forge and hammer took his place in the Raja’s Department of
Education: Oh, what resounding blows! The iron chain was soon completed, and the bird’s
wings were clipped. The Raja’s brother-in-law looked back, and shook their heads, saving:
“This bird not onlvlacks good sense, but also gratitude!”™ With text-book in hand and baton in
the other, the pundits gave the poor bird what may fitlv be called lessons!

The Kotwal was honored with a title for his watchfulness, and the blacksmith for skill in
forging chains. The bird died.

(A Parrot's story by Rabindra Nath Tagore)

The status of the 'bird’ in this story can be compared today with that of a
[Question ID = 19996]

1. head of the school [Option ID = 49979]
2. student [Option ID = 49978]

3. teacher educator [Option ID = 49977]
4. teacher [Option ID = 49976]

Correct Answer :-
« student [Option ID = 49978]

15) Once upon a time there was a bird. It was ignorant. It sang all right, but never recited
scriptures. It hopped pretty frequently, but lacked manners. Said the Raja to him self:
“Ignorance is costly at the long run. For fools consume as much food as others, and vet give
nothing in retumn.”

He called his nephews to his presence and told them that the bird must have h sound
schooling. The pundits were summoned, and at once went to the root of the matter. They
decided that the ignorance of the bird was due to their natural habit of living in poor nest.
Therefore, according to pundits, the first thing necessary for this bird’s education was a
suitable cage. The pundits had theirreward and went home happilv. A golden cage was built
with gorgeous decorations. Crowds came to see it from all parts of the world. “Culture,
captured and caged” exclaimed some, in a rapture of ecstasy and burst into tears. Others
remarked: “even if culture be missed, the cage will remain, to the end, a substantial fact. How
fortunate for the bird.” The goldsmith filled his bag with monev and lost no time in sailing
homewards.

The pundits sat down to educate the bird. With proper deliberation thev took their pinch of
snuff, as one of them said: “Text-books can never be too manv for our purpose!”™ The
nephews brought together an enormous crowd of scribes. Thev copied from books, and
copied from copies, till the manuscripts were piled up to an uncatchable height. Men
murmured in amazement: “Oh, the tower of culture, egregiously high! The end of it lost in
the clouds!™ The scribes, with light hearts, hurried home, their pocket heavily laden. The
nephews were furiously busv keeping the cage in proper trim. As their constant scrubbing
and polishing went on, the people said with satisfaction: “This is progress indeed!™ Men were
emploved in large number, and supervisors were still more numerous. These, with their
cousins of all different degrees of distance, built a palace for themselves and lived there
happily ever after. Whatever may be its other deficiencies, the world is never in want of fault-

finders; and they went about saving that every creature remotely connected with the cage
flourished bevond words, excepting only the bird.

When this remark reached the Raja’s ears, he summoned his nephews before him and said:
“My dear nephews, what is this that we hear?” The nephews said in answer: “Sire, let the
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truthis to be known. Food is scarce with the fault-finders, and that is why their tongues have
gained in sharpness.” The explanation was so luminously satisfactory that the Raja decorated
each one of his nephew with his own rare jewels.

The Raja at length being desirous of seeing with his own eves how his education department
engaged itself with the little bird, made his appearance one day at the great hall of learning.
From the gate rose the sounds of conch-shells and gongs. homs, bugles and trumpets,
cvmbals, drums and kettle drums, tom- toms, tambourines, flute, fifes, barrel-organs and
bagpipes. The pundits began chanting mantras with their topmost voices, while the
goldsmiths, scribes, supervisors, and their numberless cousins of all different degrees of
distance, loudly raised a round of cheers.

The nephews pleased, the Raja was about to remount his elephant, when the fault- finders
from behind some bush, cried out: “Maharaja, have you seen the bird?™”

[Indeed.I have not!” exclaimed the Raja, “T completely forgot about the bird. Turning back,
he asked the pundits about the method they followed in instructing the birds. It was shown to
him. He was immensely impressed. The method was so stupendous that the bird looked
ridiculously unimportant in comparison. The Raja was satisfied that there was no flaw in the
arrangements. As for anv complaint from the bird itself, that simplv could not be expected. Its
throat was so completelv choked with the leaves from the books that it could neither whistle
nor whisper. It sent a thrill through one’s body to watch the process.

This time, while remounting his elephant the Raja ordered his state Ear-puller to give a
thorough good pull at both the ears of the fault- finder. The bird thus crawled on, dulv and
propetly, to the verge of inanitv. In fact, its proper was satisfactory in the extreme.
Nevertheless, nature occasionally triumphed overt training. and when the moming light
peeped into the bird’s cage it sometimes fluttered its wings in a reprehensible manner. And,
though it is hard to believe, it pitifully packed at its bars with its feeble break “What
impertinence!™ growled the Kotwal_

The blacksmith, with his forge and hammer took his place in the Raja’s Department of
Education: Oh, what resounding blows! The iron chain was soon completed, and the bird’s
wings were clipped. The Raja’s brother-in-law looked back, and shook their heads, saving:
“This bird not onlylacks good sense, but also gratitude!”™ With text-book in hand and baton in
the other, the pundits gave the poor bird what may fitlv be called lessons!

The Kotwal was honored with a title for his watchfulness, and the blacksmith for skill in
forging chains. The bird died.

(A Parrot's story by Rabindra Nath Tagore)

The bird died in the end because
[Question ID = 19995]

1. it lacked good sense. [Option ID = 49972]

2. its cage was dirty. [Option ID = 49974]

3. Its natural instincts were suppressed. [Option ID = 49973]
4. it was brutally beaten up by the Raja. [Option ID = 49975]

Correct Answer :-
« Its natural instincts were suppressed. [Option ID = 49973]
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[Question ID = 53387]

1. (i), (ii) [Option ID = 93536]

2. (i), (i), (iv) [Option ID = 93534]

3. (i), (ii), (iii) [Option ID = 93535]

4. (ii), (iii), (iv) [Option ID = 93537]
Correct Answer :-

e (i), (ii), (iv) [Option ID = 93534]
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[Question ID = 6651]

1. UgM & S8 a1l I SifeTa yRTeif # sieT [Option ID = 26596]
2. TR T FAAT 3R ST B HIGHT I BT [Option ID = 26598]
3. A H ST fagy Sd AT [Option ID = 26597]

4, TSI TRTT BT SRIGITd H=AT [Option ID = 26595]

Correct Answer :-
o T H THEGT 3R S BT UG ST BT [Option ID = 26598]
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[Question ID = 6650]

1. 91 g S 9ETST 9 ST & [Option ID = 26593]

2. U1 e S yrfaRfte faemerat & ueTg [Option ID = 26592]

3. U1 e S ueia & fog fARaR W ST 3@ [Option ID = 26591]
4, T e St ! faemerdl § UgIE [Option ID = 26594]

Correct Answer :-

o 91 Rigres S IS A ST [Option ID = 26593]
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[Question ID = 53384]

1. (i), (iii), (iv) [Option ID = 93523]
2. (i), (ii), (iv) [Option ID = 93522]
3. (i), (ii), (iii) [Option ID = 93524]
4. (ii), (iii), (iv) [Option ID = 93525]

Correct Answer :-
e (i), (iii), (iv) [Option ID = 93523]
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IR TR A SAY Weg & Ty @ [Question ID = 6649]

1. GHAU [Option ID = 26590]
2. s [Option ID = 26588]
3. G [Option ID = 26589]
4. BHFT [Option ID = 26587]

Correct Answer :-

« HHAU [Option ID = 26590]



